(9] - )

A S == A5 AU S 2018 (A) | 20179 (B) | 4 (A-B)

34 88,525,012 80,373,721 8,151,291

88,525,012 80,373,721 8,151,291

Z2F51S 84,530,296 77,338,698 7,191,598

3,434,932 2,977,933 456,999

15,000 15,000 0

AFA 4 15,000 15,000 0

AR FFAds ST H 13,600 13,600 0
7h A A A A 8,100
1) $98= 210-01 25,0009 X 16% x 33]= 1,200
2) A=A 2 210-01 |6,0009 x 350%-= 2,100
3) Al xtaE 210—07 600,000¢ X 8t]= 4,800
L B R e ATA A 4,800
1) w27 210-01 |200,0009 X129 x 28] = 4,800
o AT 700
1) 98 210-01 |7,0009 x10%= 70
2) Yixs 210—01 10,0009 X 31| x 6A] 7F= 180
3) ZAAEE (AW 450
7hH 71E= 210-06 |100,0009 x 38 = 300
) =3 210-06 |50,0009 X 3% x 1A]3k= 150

2. AN FF-AR ReAs 1,400 1,400 0
7t AL S S 1,400
1) W7 210-01 |700,0009 x 2= 1,400

27,790 27,710 80

= 3,480 3,400 80

DFFEA 3,480 3,400 80
7} 2 AT A 3,480
1) &98= 210-01 [25,0009 X 16% % 23] = 800
2) 2n] 210-04 |8,000¢ x40 x 23] = 640
3) EATE 210-06 |50,0009 x 6 x 23] = 600
4) AESTY 210-06 |40,000¢] x 6% x 28] = 480
5) WA 210-06 |40,000€1 % 67 x 23] = 480
6) WAI 210-06 |40,0009 x 67 x 23] = 480
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(9] D)
Abd Wi < = AU S 2018 (A) | 20179 (B) | TH(A-B)

TAJAAFE 23,070 23,070 0

1. AAMEAHD) $1 4329 2,580 2,260 320
7w g A ¢ 3] 2,580
1) 98+ 20,000€] X 9% X 43] = 720
2) I+ 80,0009 X 3% x 43| = 960
3) #2923 15,0009 X 15 x 43| = 900

2. A A3 L4 2,330 1,530 800
7t A A F 2,330
D ZAT3 80,0009 X 5 x 53] = 2,000
2) & 9] 3 15,0009 x 119 x 23] = 330

3. XY 5grdg s} 3,080 4,280 A1,200
7F 25 NEE 7 (A ) 890
1) +98% 20,0009 X 9% x 23] = 360
2) AT 80,0009 x 21 x 23] = 320
3) §93] 15,0009 X 77 x 23] = 210
U, ndsg@pdg o (xE) 2,190
1) &98% 20,0009 X 25% x 28] = 1,000
2) I+ 80,0009 x5 x 23] = 800
3) #eolg 15,0009 % 139 x 23] = 390

4. TAJMPFFZ 15,080 15,000 80
7h 2 A/ 9,560
1) 985 20,0009 X 17% < 63| = 2,040
2) 21n] 8,000 X 207 x 23] = 320
3) AETT 40,0009 X 18% X 103] = 7,200
. 5 A/ T 5,520
1) +98% 20,0009 X 15% x 43]= 1,200
2) 2] 8,0009] X 207 x 23] = 320
3) AETT 40,0009 X 107 X 103] = 4,000

AHA &3 1,240 1,240 0

1. €3 (FY) A=Y 1,240 1,240 0
7h =3 (A Y) AR 1,240
1) &98% 20,0009 X 12 % 28] = 480




(9] - )

Hopnm e e s Ared )¢ S-A= ArEue 20189 (A) | 2017d(®B) | SH(A-B)
2) HEZ 210-06 40,0009 x5 x 23] = 400
3) 9] 3 230-02 15,0009 x 247 = 360
AFF-AAAEEY 1,560 1,560 0
A3 FAjAAEY 1,560 1,560 0
1. AgaF-dAarr#e A d 1,560 1,560 0
7} QIARS] & 3 1,560
1) FASor 210-06 |80,000¢ % 27 x 63 = 960
2) 9|3 230-02 15,0009 X874 x 53] = 600
v A T4 QA 2,255 2,255 0
H) A 72 QA B 2,255 2,255 0
1. 5T FA A 745 745 0
7h ST A AL Y 745
1) $938= 210-01 |20,0009 X 5%= 100
2) ZAZ=} 210-06 (80,0009l x 17 x 33]= 240
3) 9|3 230-02 15,0009 %97 x 33 = 405
2. A FFA LA FAT 1,510 1,510 0
7h WAL A 1,610
1) $94= 210-01 |20,0009 X 5% x 23] = 200
2) A7 A= 210-01 16,4209 X 100%-= 642
3) duw 21001 |14,000¢ X 31 X 44| k= 168
4) 7 e (4R 500
7h 7] 210-06 |160,0009 x 17 x 23] = 320
W) 23 210-06 90,0009 x 178 x 24| k= 180
23 ¢ B2 9 A}7] A = 3,388,327 2,931,408 456,919
A LENA Y 3,388,327 2,931,408 456,919
1. A3%353$9 4,000 2,000 2,000
7} ARE T3 FEA Y 240-01 |1,000,0009 x 4% = 4,000
2. AFAEA AN R 3,384,327 2,929,408 454,919
7h WA AR A B A 2 3,384,327
D 7189 110-04 |1,623,5409 X928 x 129 = 1,792,384
2) A7) LFEI A 110-04 (339,070 x92% x12¢= 374,340
3) 7Y 110-04 (83,6809 %714 x129= 71,300
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(9] - )

AP S =A== AEU S 2018d(A) | 20174 (B) H(A-B)

4) AP | R 25 110-04 333,050 X 9™ X 4%7]= 11,990
5) WE K ZH] 110-04 60,0009 X927 x 129 = 66,240
6) F21H] 110-04 130,0004 %929 x129= 143,520
7) AL 110-04 |1,274,94091x 921 = 117,294
8) A F 7] 110-04 |500,00049 x 927 x 28] = 92,000
9) A7)l 110-04 |250,0004¢ X 927 x 23] = 46,000
10) =3 E <)1) 240-02 ]400,0009 <927 = 36,800
11) §8% 320-12 |4,022,2009 X927 = 370,043
12) =wlol 320-12 |106,32091 x 927 x 124 = 117,377
13) AA4Rn3 320—12 72,3009 x92% x12¢= 79,816
14) w21 47] Q kK 3 320-12 |4,7409x92% x 129 = 5,229
15) 184183 320-12 |35,44090x92% x129= 39,126
16) A4 B3 320-12 |18,90091x 927 x129= 20,868

5,753,207 3,406,715 2,346,492

537 7 783,333 150,615 632,718

13,903 11,185 2,718

SASHELIAT 6,120 6,110 10
BAS S R R R 3,740
) S gE 210-01 (20,0009 X 9% x 33]= 540
A} A 2 210-01 |7,0009 X 50%-= 350
7-A1) 210-04 |3,0009 %100 x 3% = 900
A (AR 210-06 |100,000¢ x 47 x 38| = 1,200
2] 3 230-02 |15,0009 x 257 x 28] = 750
U AT s5ds 290
1) 7+20n) 210-04 |3,000€1 X601 = 180
) A (A 110
7h 7|5 210-06 |70,0009 x 1= 70
W} 23 210-06 |40,00091 X 17 X 14|3k= 40
WYL Y 2,090
SojexE 210-01 |20,0009) x 15%= 300
A€ok 210-06 (70,0009 x 20 = 1,400
& o] 3] 230-02 |15,0009 X137 x 28] = 390
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B AR S A (9] - )

o A=)
ij‘ji ﬂ;j: AFS e B AEU 2018 (A) | 20179 (B) | T (A-B)

2. FTAFAZ I 7,783 5,075 2,708

7h wSIg B AT 399

JOIE 1A= 210-01 |14,000¢ x 30 X 24| 7}= 84

2) AR (AW 150

7p 7)1 210-06 |100,0009 X 1= 100

W) 3 210-06 |50,0009 X 1% X 14| 3k= 50

3) & 9] 3 230-02 |15,0009 119 = 165

U w S iAdd 484

1) 21 210-04 |8,0009 x 47 x 28] = 64

2) 714 E =} 210-06 |70,00091 x 3% x 23] = 420

o} AF3] R ¢l ol A 310-01 |575,00098 x12¢= 6,900
IR LR F 35,430 35,430 0
L A RA G A LR F 35,430 35,430 0

7k ARE] A o Sp AR R 35,430

1) $98= 210-01 |20,0009 X 10% x 83| = 1,600

2) As A& 210-01 |5,0009 x 2,9034 % 23] = 29,030

3) ARG 210-06 40,0009 x 207 x 63| = 4,800
oA &Y 133,000 103,000 30,000
1. d<zsA9 130,000 100,000 30,000

7h AR A d e A ETY 90,000

1) 74k 49,560

7} o]&olut 310-01 |550,0009 %3 x 129 = 19,800

L) gt 310-01 |550,0009 x4 x 129 = 26,400

t}) Wk s 310-01 |30,0009) X 77 X 164 7k= 3,360

2) T4 16,840

7H o ex 210-01 |20,000€ x10& x108]= 2,000

) Ark 600

(1) 7)1 210-06 |40,0009 x 108 = 400

(2) %3} 210-06 (20,0009 X107 = 200

th) o}7)5An] 210-09 |100,0009 X 10%= 1,000

2h) 7r21H) 310—01 13,0009 x70% x438] x117/]¢¥= 9,240

u}) oF7] ] 430-01 |200,0009 x 20%= 4,000
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GEE

== AEU S 2018 (A) | 20179 (B | =
3) wakal s 12,450
7h Sl eE 210-01 20,0009 X 20%= 400
) ZoAae 210-01 |50,0009 x 70 = 3,500
b 2w 210-07 |500,000¢ x 2t) x 23] = 2,000
2}) 2] 310-01 (18,0009 x 707 x 73]= 3,920
up) 7F21H) 310-01 |3,000€ x 707 x 33]= 630
Hl) Zuk) 310-01 |40,000¢ X 257 x 29} = 2,000
4) 453 11,150
7h £9g3 210-01 |20,0009 x50% x 43]= 4,000
) Qi) 210-01 |5,0004 x 400%= 2,000
b 2= 210-07 |200,0009 x 2t§ x 38] = 1,200
2} Al Q% 210-07 |1,500,000¢ x 18]= 1,500
u}) 21H) 310-01 (18,0009 X707 x 43]= 2,240
Hp) 7h21n) 310-01 |3,0009 %70 = 210
. ZA A 30,000
1) ZAH] 21,600
7H A EE 310-01 |360,0009 %1 x129= 4,320
) #ajel 310-01 |240,0009 X6 x12¥= 17,280
2) A3 8,400
7hH EREA 210-01 |2,5009 x1,024%= 2,560
) 9garE 210-01 |400,0009 x 18] = 400
o)) ofR 210-01 |1,000,0009 x 18]= 1,000
2} AJAd 9] 210-07 |3,700,0009 X 13]= 3,700
np) ZA% 310-01 |30,0009 % 6= 180
uh) 2lu] 310-01 18,0009 x40W= 320
A}) 2T 310-01 120,0009 x 2= 240
A adNSA gAY 10,000
1) $98F 210-01 |20,0009 X 30% x 23] = 1,200
2) THE 210-01 |2,9809x1,000%-= 2,980
3) Fufut 210-01 800,000 x 17= 800
4) v 210-01 |40,0009 %57} = 200
5) 2] 210-04 |8,0009 X459 x 23]= 720

- BE-NEREAN - BHIALLY - B9
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A% D)
)=]
ﬂg Al B AbE) 20184 (A) | 20179 (B) ZHA-B)
6) 7H411) 210-04 |3,0009 % 2007 = 600
7) AU A= 210-07 |500,000¢ x 56 = 2,500
8) A|delxte 210-15 |1,000,000¢ ¥ 18] = 1,000
2. FANP N SEF 3,000 3,000 0
7h EOolELF{IE 3,000
D Az z 98- 210-12 |50,0009 x 30 x 23] = 3,000
EAF SR LY 601,000 1,000 600,000
1. A8 wedxg 601,000 1,000 600,000
7h HA S s R AU E L ALY 1,000
1) $oex 210-01 |20,0009) X 5% x 43]= 400
2) 2] 310-01 |8,000¢ x 25 x 38]= 600
. A 7|REstw A E 600,000
1) gz 210-01 |100,000€ X 10% X 108] = 10,000
2) 2] 210-04 |8,000€ x50% x 83]= 3,200
3) 7+An) 210-04 |3,000€] X507 x 1238 = 1,800
4) Z3A] (LR 210-06 |100,0009 x5 x103]= 5,000
5 quHET 580,000
7hH +H5 (5a) 620—-03 |83,000,0009 X 53= 415,000
W) AFEE(13) 620—10 |83,000,000¢ % 1= 83,000
) FHI(1w) 620—-03 |82,000,0009 X 13.= 82,000
47,428 48,228 A800
FASFAAAA L 9,258 9,258 0
1. xASFIAAA Y 9,258 9,258 0
7h AN A A 4,388
1) $98= 210-01 |20,0009 x15% x4 38]= 1,200
2) dag 210-01 |14,0009 x 3u} X 14A]7k= 588
3) 7HAn 210-04 |3,000€ X 1007 x 48] = 1,200
4) AR (AW 210-06 |100,000¢1 7% x 28] = 1,400
RN R Rk 870
1) $oje= 210-01 |20,0009) x 15%= 300
9) & 03] 230-02 |15,0009 x 19% x 23] = 570
vt w7 E 4,000
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A A GREIE))

o )=
?};3 ﬂ% Apel el = e 2018W(A) | 20179 ®B) | ZZ(A-B)

1) xS38kw 620—03 |800,000¢ X 5i= 4,000
sy A 4 38,170 38,970 2800
1. $EARAA Y 4,170 4,970 A800

7t Se g Ad g 764

1) $ogx 210-01 |20,0009 x 9% = 180

2) 91% 210-01 |14,0009 x 30l X 2A] 7= 84

3) ZAAtrE (AR 110

71 7|5 210-06 |70,0009 x 1% = 70

W} 23 210-06 |40,0009 x 19 x 14| 7= 40

4) 9] 3 230-02 15,0009 x 26 = 390

U 2531 dA T 3,406

D Soax 210-01 |20,0009 X 17% x 23] = 680

2) a8 210-01 |14,0009 x 31 x 8A| 7= 336

3) 7HA1n)| 210-04 |3,0009 %804 x 43]= 960

4) AR (AW 210-06 |100,0009¢ ¥ 27 x 48] = 800

5) 9] 3 230-02 |15,0009 x 147 x 33| = 630
2. =2 TEA Y 34,000 34,000 0

7} %‘ﬂ?%”ﬁil?ﬁ%%‘ 34,000

o s 210—01 [20,0009 X 19% x53]= 1,900

2) A} 5 A & 210—01 [8,6009 X 100 X 435 = 3,440

3) 9] 3 230-02 15,0009 x 47 x 33| = 180

4) 22 IHEIA L (FE) 62003 |14,240,0009 X 23.= 28,480
FAA YA LS 32,284 33,155 A8T1
Rz TEEA 9 32,284 33,155 A871
1. ZSAI A7 EA LR T 500 500 0

7t WS A A7) A 2Rk 500

1) A=Az 210-01 10,0009 X 50%= 500
2. 7-]AJE];§-81 30,544 31,415 A871

TG gL AT 7,940

1) ﬂ%g 210-01 |26,0009 x4%= 104

2) 9= 210-01 |14,0009 x 3ul] X 8A] 3= 336

3) 7F21H) 210-04 |3,0009 X 80™ x 23| = 480
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Abedu e 5 —A & g 2018 (A) | 20174 (B)

4) 7 (b 210-06 |100,0004¢ x 2% x 28 = 400
5) Wrtel A E A 1,000
7p) 2] 210-04 |8,00091 x 257 x 23]= 400
W) 2l it 210-07 600,000 x 1t} = 600
6) LG oA 5,620
b $JeE 210-01 |20,0009 X 10%= 200
) 2] 210-04 |8,0009 X607 x 43]= 1,920
t}) <) 210-04 40,0009l x 60 = 2,400
b A xtm 210-07 |550,000€ x 2t = 1,100
U 25rdEdeers ey 8,000
D Fob&% 620-03 |1,000,0009 x 831= 8,000
FEnHRAALY 700
1) AXE ) 210-06 |70,0009 % 10 = 700
2 ALRES P 2,404
1) $98F% 210-01 |18,0009 x8F= 144
2) g 210-01 |14,000¢ X 3v] X 104 2F= 420
3) 2H) 210-04 |8,0009 %753 = 600
4) 7t (A 210-06 |70,0009 x 5% x 23] = 700
5) 9] 3 230-02 |15,0009 X 1874 x 23] = 540
RS b B 7,800
1) Zolal e 620-03 |780,0009 x 109 = 7,800
b A LS A8y 3,700
1) AdE 5 210-06 |70,000€) x 23 x 23] = 3,220
2) g3 230-02 15,0009 x 324 = 480

3. T D AR A3 1,240 1,240
7h w B A Az 1,240
1) 98= 210-01 [20,0009 x 10% % 23]= 400
2) 393 230-02 [15,0009 x 149 x 43]= 340

32,058 31,735

B 32,058 31,735

A DL A 2GR RN TR FLA 14,830 14,310
7h wddsEA 7,530
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HEETA T X9 (sF9] @ H9)
o A=)
?};3 ﬂg PRSIRE == AESE 20181 (A) | 20179(B) | Z7(A-B)
1) $og= 210—01 20,0009 X 30% x 33] = 1,800
2) A& A 2 210-01 |1,0009 X 600%-= 600
3) g 210-01 |14,000€) x 3w X 15| 7k= 630
4) 2n] 210—04 18,0009 x150% = 1,200
5) A5 (D) 1,200
7h 7|5 210-06 |100,000¢ x 6= 600
) 3 210-06 |50,0009] X 67 X 2A]7k= 600
6) el xta 210-07 [600,0009 x 3= 1,800
7) 893 230-02 15,0009 X209 = 300
e sEobe A ¢ 3,000
1) 298= 210-01 1300,0009 X108 = 3,000
o}, AbE] B39 g1l 7| 4,300
1) o171] 310-01 |537,5009 x84 = 4,300
2. XY TSI USRS 1,228 1,425 A197
7}, R m S 1,228
1) $98= 210—01 20,0009 X 30%= 628
2) A|Adelxta 210-07 |600,0009 x13]= 600
3. 8 X941 16,000 16,000 0
7 HADEAA K 16,000
1) 539 620—03 16,000,0009 x 1714= 16,000
E2gSAE 447,832 393,277 54,555
EZg899 1,705 1,705 0
1. 550529949389 1,705 1,705 0
7}, FA g 210-06 |80,000¢) x 2% x 78] = 1,120
L} 393 230—02 15,0009 x13% x33]= 585
EgSusssAd 406,479 355,932 50,547
1. EFaSA gAY 406,479 355,932 50,547
b A ST A AAE L 234,006
1) ZdAF1AN] 81,712
7hH 7 EF 110—04 |2,449,4909 x29 x12¢¥= 58,788
) F21H] 110-04 |80,0009 x 2% x 129 = 1,920
e P ey 110-04 |71,47090 x 27 x 229 = 3,145
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GO )

AF A= AEU 20189 (A) | 2017d(®B) | SH(A-B)
o) ARTESY 110-04 |1,209,6209 x 2= 2,419
w}l) -5 7] 110-04 |500,000¢ x 27 x 23] = 2,000
Hp) 233 2 2)n) 240-02 400,000€ x 29 = 800
AP BRAZ 320—12 2,894,6809 x 2% = 5,789
oh) A= 320-12 |33,175,0009 X 4.5% x 29 = 2,986
) 72173 R 320-12 |33,175,0009 X 3.12% X 24 = 2,070
2P QA7 QokH ¥ 320—12 1,035,060€ X6.55% x 2 = 136
7hH 1813 320—12 33,175,0009 X 1.5% % 2% = 995
Ep Ak R 3 320—12 33,175,0009 x1.0% x 2% = 664
2) T2 52,954
7hH A 7] 210-01 [100,0009 X 10%= 1,000
W) AekE 71 AL 210-06 [100,0009 %907 = 9,000
h E¢nSgdEy 210—01 18,060€ x200% x 53] = 18,060
2} ELaSds 210—01 36,5004 X100 = 3,650
) FA|BAFEULETH 210-01 5,000€9 x6007)= 3,000
v FAEAHAA Y 210—15 182,440€9x100%= 18,244
3) 7% 26,790
7hH &= 210—01 20,0009 X 20%F X 103] = 4,000
W) Ao+ 210—02 100,0008 x 129 = 1,200
th SlHY & F 210-02 300,000€ X 63]= 1,800
) A5 dx s 210—02 200,000 x129= 2,400
nh) A7) 210-02 1,000,000 x64= 6,000
vh) et w 210-02 |65,0009 x 64 = 390
AP Al BT RS 210-09 500,000¢ x 43 = 2,000
oh) &Ergein) 210—13 750,0008 x 129 = 9,000
4) o] 10,000
7hH T 220-01 20,0009 x4 x693]= 5,520
W = 220—01 40,0009 x 49 x 203] = 3,200
h &9 220—01 70,0009 x 49 = 280
Zh) FYZ&Hodn) 220—05 100,000€ X103 = 1,000
5) ZAAtr (LR 60,550
7h 718 310—01 50,0009 x 8659 = 43,250
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AF A= AEUY 2018€(A) | 20174 (B)
W) %3 310-01 |20,0009 x865% = 17,300
6) A 430-01 |10,0009¢ X 20071 = 2,000
. AQd S STaSAE Y 172,473
1) AFAEAA 7] 23,858
7} o1 110-03 |590,0009 x 3% x 10€ = 17,700
wp) 224 110-03 48,0009 x 3% x 109 = 1,440
th WA 110-03 500,000 x 3% x 23] = 3,000
2p) uhEa R )y 240-02 |400,0009 x 3 = 1,200
n}) 1§13 320-05 |20,700,0009 x 1.5%= 311
Hh) AbA RS 320-05 |20,700,0009 X 1.0%= 207
2) TEI9EY 57,410
7 s 210-01 |10,0009¢1 X490 x 103] = 49,000
W} mAA Y 210-01 |21,4009 %100 = 2,140
t}) &R m )¢l 210-01 |37,7009 x 100 = 3,770
2} 7] BAA A n) 210-12 |250,0009 x 108 = 2,500
3) 7Y 28,275
1 S eE 210-01 |20,0009) x 25% x 108] = 5,000
W) Aste s 210-02 100,000 x 12¢= 1,200
th JAEIEAl 210-02 175,000 x 129 = 2,100
2h A7) 210-02 |500,0009 x 129 = 6,000
uh) st 210-02 |31,2509x129= 375
Hh) A A B PR S ] 210-09 |500,000¢ x 83] = 4,000
AP 9] Ekg-on 210-13 [800,0009 x 12¢= 9,600
4) ool m A9 210-10 |700,0009 x 12¢= 8,400
5) oH] 8,680
71 T 220-01 |20,0009 x 3% x 823 = 4,900
) = 220-01 |40,0009 x 37 x 288 = 3,360
) E9 220-01 |70,0009 x 3% x 23] = 420
6) At (LR 35,350
71 78 310-01 |50,0009 X505 = 25,250
W) %3 310-01 |20,00091 X505 = 10,100
7) AREA}T) 430-01 |4,950,0009¢ x 1t}= 4,950
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HEETA T X9 (sr9] : 29
o A=)
o | A PR CH AE o 20189 (A) | 2017d®B) | FTHA-B)
8) Tz AE 430—-01 |2,000,000¢ x 2t} = 4,000
9) oJA}ut 430-01 |450,0009 x 27} = 900
10) 871 (AA 2] A} 430-01 |130,0009 x5/ E= 650
ELgSEAY 39,648 35,640 4,008
1. A 8AF-9 39,648 35,640 4,008
7h S S A DA E X AR D 39,648
1) o17An 110-03 |25,00091 X 27 X 5947k X 109 = 29,500
2) F21] 110-03 |48,00091 x 2% x109= 960
3) WA F 7 110-03 |500,000¢ x 2 x 23] = 2,000
4) "bZ3aH 2] 110-03 [400,0009 x 27 = 800
5) 4=3]o9n) 220—-01 |20,000€ x 2% x 1409 = 5,600
6) 1L 320-05 |15,750,0009 X 1.5% x 2% = 473
7) A1 320-05 |15,750,0009 X 1.0% x 2 = 315
= 7S84 3 5,340 4,776 564
EN=Z ST 2,328 1,764 564
1. B a8X4g 2,328 1,764 564
7h SARSEEAAT 918
1) $99= 210-01 (20,0009 X 8% x 23] = 320
2) 918 210-01 |14,0009 X 31} X 44| 7= 168
3) A (b 220
7h 75 210-06 |70,0009) x 27 = 140
W) %3 210—-06 |40,0004 x 2 X 14| 7= 80
4) 9] 3 230—-02 15,0009 x 7% x 23] = 210
U EEdEdrdAd 1,410
1) £94% 210-01 |20,000€ X 10% x 33] = 600
2) AR (AW 660
7} 7|5 210-06 |70,0009 x 2% x 38| = 420
W) x3 210—-06 |40,000€ x 27 X 34| 7= 240
3) o3 230-02 15,0009 x 10 = 150
TR e NN P ) 3,012 3,012 0
1. AR g 3,012 3,012 0
7F. B A 3 A 1,544

o,

- uF-gEEEAY - SARLSEYS) - Fu A IA
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(] A 9)

o
?};3 A el == A 2018 (A) | 2017d(B) #(A-B)

1) $oJe= 210-01 |20,0009 X 10% x 73]= 1,400

2) P EILEF 210-01 12,0009 x12¥= 144

uh st e wad skl 1,468

1) $98% 210-01 |20,0009 x 5% x 28] = 200

2) A=A =¥ 210-01 |5,0009 % 50%-x 23] = 500

3) Y= 210-01 |14,0009 x 3ull X 4A]3F= 168

4) 7+21H) 210-04 |3,0009 X507 x 23] = 300

5) At (YHh) 300

7 78 210-06 |100,0009 x 274 = 200

W) =3} 210-06 |50,000¢ X 27 x 14| 3k= 100
| ZFolu & 1,268,005 1,461,475 £193,470
Yol TAFR B Z AL 608,450 626,000 A17,550
1. 9 R Z ALY 15,514 13,902 1,612

7h Aoivl g ol WAL 3 Ak 2,188

1) $98F% 210-01 |20,0009 X 15% x 23] = 600

2) AEA = 210-01 |7,0009 x40 X 25]= 560

3) 9w 210-01 |14,0009¢ x 31 x 42| Zk= 168

4) 24 210-04 |8,0009 x40 X 23]= 640

5) Ak (dnh) 220

7h 7= 210-06 |70,0009 x 28 = 140

) =7 210-06 40,0009 X 2% X 1A] k= 80

. fojml ol R w AR AR TR 1 W 11,080

1) $98% 210-01 |20,0009 X 25% x 38]= 1,500

2) A atw 210-07 |1,000,000¢ x 2t]j= 2,000

3) Agn 210-15 |30,0009 %307 x 38]= 2,700

4) 823 230-02 |15,0009 X307 x 43]= 1,800

5) At (dHh) 310—-01 |100,0009 x 27 = 200

6) 28] 310-01 |8,0009 X307 x 23] = 480

7) <uhy) 310-01 |40,000¢ % 30% x 28] = 2,400

th. FAA AN 210-09 200,000 x 6% = 1,200

gk FAAYE S 1,046

1) Ay 430-01 |250,0004 X 3t)= 750

o] WS — Yol WALE B Z AL
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2% (gl - A9

)=
s A %A% eSS 20184W(A) | 20179(®) | S2(A-B)
2) AAF o1 430-01 |148,0009 x 2tj= 296
2. Yolul ¥ Z WA AN 592,936 612,098 219,162
7F B 400,200
D 1+5H 110-03 12,700,000 x 38 x 12¢ = 97,200
2) 155 110-03 |2,500,0009 % 3 x 129 = 90,000
3) 2+%5+ 110-03 12,300,000 x 4™ x 12¢= 110,400
4) 25 110-03 12,200,000 x 38 x 129 = 79,200
5) £33 2R 110-03 150,00091 X 138 x 129 = 23,400
U, Felolxz 110-03 1400,0009) x 139 x 129 = 62,400
o}, Al A oA & 210-15 [300,0009 x84 = 2,400
2} =373 210-15 |1,650,0009 x84 = 13,200
nl, S EE 40,100
1) AFA oA 210-15 |1,300,0009 x 878 = 10,400
2) AkgaA Y 29,700
7h Alekuts 210—15 1,300,000 X9 = 11,700
W) A7 ek 210-15 |2,000,0009 x 98 = 18,000
uf, ¥ 7=+ 320-05 |2,500,00091 %139 = 32,500
Ab AT 42,136
1) =l 320-05 |488,000,0009 x4.5%= 21,960
2) A7 R 3 320-05 |488,000,000¢ % 3.12%= 15,224
3) =17 Qekr 3 320-05 [16,000,0009 X6.55%= 1,048
4) AR 5.8 320-05 |488,000,0009 X 0.8%= 3,904
FEx9 659,555 835,475
259 SN 5,325 4,755
VAl Bt = 1,125
1) $99= 210-01 |20,0009 X 10% x 23] = 400
2) A 210-06 40,0009 x 2% x 43 = 320
3) 93 230-02 15,0009 x 274 = 405
L}, S| XA o) s AL 4,200
1) AFER 210-01 |20,0009 X 20%= 400
2) A= 210-07 |1,500,0009 x13]= 1,500
3) ¥ol3s 230-02 15,0009 x 204 = 300
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GO )

AFA U < A5 ArEU S 20184 (A) | 2017 (B) Z(A-B)
4) 211) 310-01 |8,0004¢ x 2504 = 2,000
2. QAAHTEFAH LY 654,230 829,956 175,726
7t FAAAA 654,230
1) el7n] 440,970
7P fojuly Zw Al 265,937
(1) 9% 110-05 |29,600,000¢ x 69 = 177,600
(2) AFATLZFG 110-05 |20,0009 X 6 x 25A] 7k= 3,000
(3) FEIelzt= 110-05 |400,0009 x 67 x 129 = 28,800
(4) AR 210-15 |300,0009 x 3= 900
(5) AlFFA el 2] Al oF 1 An) 210-15 |2,433,3309 X6 = 14,600
(6) =A7AN 210-01 |1,650,0009 X 43]= 6,600
(7) B3 = 320-13 |2,510,8709 x 6= 15,066
(8) =l 320-13 |224,600,0009 X 4.5%= 10,107
(9) A7 R3 320-13 |224,600,0009 X3.12%= 7,008
(10) =171 e0kw 3 320—13 |7,007,00094 X6.55%= 459
(11) 2R3 320-13 |224,600,000¢ X 0.8%= 1,797
wh) A AL 41,222
(1) 9= 110-04 |1,829,7909 x 1% x129= 21,958
(2) WEHZN] 110-04 60,0009 x1% x12¢¥= 720
(3) 7V 110-04 120,0009 %1 x12€= 1,440
4) dFT=2TT 110-04 13,7009 X 178 X 20A] gk= 274
(5) A7|255F 110-04 |510,0009 x 1% x129= 6,120
(6) F21H] 110-04 [130,0009 X1 x12¢¥= 1,560
(7) A7)l = 110-04 |250,0009 x 17 x 28] = 500
(8) WHE7H] 110-04 |500,0009 x 17 x 23] = 1,000
(9) Axpor 110-04 |73,0809 %1% x19%= 1,389
(10) 9&=3E )0 240-02 400,0009 x 19 = 400
(11) g2+ 320-12 |2,600,0009 x 19 = 2,600
(12) A+ 320-12 |32,200,0009 X 4.5%= 1,449
(13) AR 3 320-12 |32,200,0009 x 3.12%= 1,005
(14) =071 89kH 8 320—12 [1,005,000€ X 6.55%= 66
(15) I1{EY 320-12 |32,200,0009 X 1.5%= 483

- gSolus - fFoluSdEAd
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AFS e B AEU 20189 (A) | 2017d(B)
(16) A 2.3 320-12 |32,200,0009 X0.8%= 258
o FAad 72,488
(1) 9% 110-04 |1,829,8009¢1 X2 x 129 = 43,916
(2) WEH ZH 110-04 |60,0009 x 2% x 129 = 1,440
(3) 7t 110-04 40,0009 %17 x 129 = 480
(4) AR LG 110-04 [12,7409 X 2 X 204 gb= 510
(5) A7|T&EFTG 110-04 |277,50090 x 29 x 129 = 6,660
(6) 3-2H] 110-04 [130,0009 %2 x 129 = 3,120
(7) HAF7H) 110-04 |500,000¢ x 27 x 23] = 2,000
(8) Axr 110-04 (67,9709 x2 x19Y= 2,584
(9) =32 2)n) 240-02 400,00091 x 24 = 800
(10) g§A =+ 320-12 |2,600,000¢1 x 2= 5,200
(11) =AF+ 320-12 |57,047,9009 X 4.5%= 2,568
(12) AR 3 320—12 |57,047,900€1 X 3.12%= 1,780
(13) =137 Q0kR 3 320-12 |1,780,000€ X 6.55%= 117
(14) 78R3 320-12 |57,047,9009 X 1.5%= 856
(15) A .8 320-12 |57,047,9009 X 0.8%= 457
eh) zeFAH 61,323
(1) 9% 110-04 |1,829,79091 x2 x104= 36,596
(2) ZE AT 110-04 1,829,790 x5% % 102 = 915
(3) WEH ZH 110-04 |60,0009 x 2% x 109 = 1,200
4) V&9 110-04 (80,0009 %2 x 129 = 1,920
(5) AATZ L 110-04 |10,2109 X 27 X 207 7k= 409
(6) A71+553 110-04 (52,5009 X2 x12¢¥= 1,260
(7) 925 I 110-04 |50,0009 x 2% x 109 = 1,000
(8) F4n) 110-04 |130,0009 x 24 x 129 = 3,120
(9) Ayl =+ 110-04 (250,000 x 27 x 23] = 1,000
(10) Ak R x5 110-04 |372,300€ X 17 x43]= 1,490
(11) HAF71] 110-04 |500,000¢ x 27 x 23] = 2,000
(12) tiA|el=E el 71n] 110-03 |61,0009 X194 x5d= 305
(13) @&=3 =2 x)n) 240—-02 400,000¢ x 29 = 800
(14) g§A+=+ 320-12 |2,200,000¢1 x 2= 4,400
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GRIE L)

A S == A5 ArEU Y 2018 (A) | 20179 (B) | TH(A-B)
(15) A= 320-12 |48,448,4509 X 4.5%= 2,181
(16) AR 6‘3 320-12 |48,448,4509¥ x3.12%= 1,512
(17) =AF7| kR 320-12 |1,511,5609 X6.55%= 100
(18) 1857 320—12 148,448,4509 x1.5%= 727
(19) &xﬁi?ﬁ 320—12 148,448,45091 X 0.8%= 388
2) L Z 799N 110,350
7h TGRS 47,000
1) &£98= 210—01 50,0009 X 40% x 143] = 28,000
(2) A=A = 210-01 |5,000€ X 1,500% x 23] = 15,000
(3) zeFelxt=m 210-07 |500,0009¥ x 2t = 1,000
(4) &4n) 210-12 |500,000¥ x63]= 3,000
) 2 s 7,900
(1) 298= 210-01 |20,0009¥ x15% x1038]= 3,000
2) ZA 210-01 [35,0009 x70AX23]= 4,900
) T 6,000
1) &£98= 210-01 |20,0009 x10F x103]= 2,000
(2) A 210—01 [40,0009 x50 x 23] = 4,000
2}) AR 600
1) &98= 210-01 |20,0009 x5% x 53] = 500
(2) A 210-01 |25,0009 x4 = 100
v WS EeY 11,340
1) $98= 210-01 |20,000€ x100%& x 23] = 4,000
(2) A 210-01 [25,0009 x 1009 x 23] = 5,000
(3) F24IH) 310—01 12,6009 x60W x153] = 2,340
vh) T ey 8,310
1) $9e= 210-01 |20,0009 x50% x 28] = 2,000
(2) wA 210-01 40,0009 X507 x 23] = 4,000
(3) F2In) 310-01 |3,300¥ x 70 x 1038 = 2,310
AD) Jo]E=H e 25,800
(1) sﬂ/\}%g 210-01 |100,0009 X 33% x 28] = 6,600
(2) A2z 2 73 210-01 60,0009 X 12% x103] = 7,200
(3) %L}\Hx] EARCREE 210-01 200,0009 X 4% x 107 = 8,000
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A S == A5 A 2018 (A) | 20174 (B)
(4) SYAFR SY4=F 210-06 [20,000¢ X 25 x 84| 7t= 4,000
o) &2l3 230-02 15,0009 x 329 x 53] = 2,400
A A 430-01 |10,0009 x100A= 1,000
3) 7139 102,910
7 7138713973 v 21,320
(1) Rk n] 6,000
op 7134 210-01 |1,000,0009= 1,000
(h el 210-01 |250,0009 X 20 = 5,000
(2) 71 ¥ H-Z=21] 230-01 (200,000 x12¥= 2,400
(3) AAFTFZE=71] 250-02 |150,0009 x129= 1,800
(4) Euj2ln) 210-05 [8,0009 X207 x 33| = 480
(5) SN 210-01 50,000 x20% = 1,000
6) A7V EF= 210—01 |15,0009 x8Fx12¢¥= 1,440
(7) R gokE 210-01 |10,0009 x45F x 43]= 1,800
(8) oyl 6,400
p T 220-01 |20,0009 x 20% x 83]= 3,200
(H =l 220-01 40,0009 X 20 x 43]= 3,200
W) 33 QT 2AA 29,980
(1) A7 9= 210-02 |1,800,0009¥ x12¢= 21,600
(2) dsla+ 210-02 |130,0009 x129= 1,560
(3) HlrrEe 210-02 170,0009 x129= 2,040
(4) AEYEAIN] 210-02 |320,0009 x129= 3,840
6) FAYEH 210-02 |70,0009 x 128= 840
6) AARZRIE 210-02 100,00091 x 13] = 100
oh) A A B 43,560
(1) AAAH]§A RS 210—15 [350,0009 x12€¥= 4,200
(2) A7|dd 5 210—13 [230,0009x12¥9= 2,760
(3) AL ET 210—09 [180,0009x74= 1,260
(4) A7]td B3y 5 210-13 [100,000¢ x129= 1,200
(5) FolAn) g 210-13 |380,0009 x129= 4,560
(6) 2HiAAd A8 £ 210—13 |140,0009 x12¥9= 1,680
(7) A& &g n) 210-15 |775,0009 %129 = 9,300
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R

At S=i) 5 AEU 2018€(A) | 20174 (B) 7 (A-B)

(8) AME AN ARGA 210-09 |1,550,0009 % 129 = 18,600
Zh BlES 8,050
(1) AFH 430-01 |1,150,000¢ x 6t} = 6,900
(2) =¥ (A4) 430-01 |450,0009 x 2t = 900
(3) AEZ7)(HHo| ) 430-01 |50,00091 x5t} = 250

47,637 44,844 2,793

SR LA 3} 43,717 42,204 1,513

1. g stds 1,852 1,812 40
7h. w38t S 1,852
1) $98= 210-01 20,0009 x15%= 300
2) A7 A= 210-01 |5,0009 x 30%= 150
3) duw 210-01 |14,000¢ X 31 X 64| = 252
4) 2u] 210-04 8,00091 x40 = 320
5) 7H411) 210-04 |3,0009 x40 = 120
6) A (4R 210-06 |70,0009 x 27 x 43]= 560
7) 9] 3 230-02 15,0009 x10%= 150

2. A EA}L 41,865 40,392 1,473
7h. I FARQI A B 41,865
D 7189 110-04 1,601,990 x 1% x12¢= 19,224
2) A7) 2RI A 110-04 |600,0009 X1 x12€= 7,200
3) WE R ZH] 110-04 60,0009 %1% x129= 720
4) F21H) 110-04 130,0009 X1 x12€= 1,560
5) AFrwIg 110-04 111,710 x 19 x 28 = 3,142
6) Atk 110-04 |74,4709 %1% x 259 = 1,862
7) 71l 110-04 [250,0009 X 1% x 23] = 500
8) A F 7] 110-04 |500,0009 x 17 x 28] = 1,000
9) on] 220-01 |20,000€ x 1% x53]= 100
10) 238 E A n) 240-02 400,0009 x 18] = 400
11) §A2=+ 320-12 (2,558,000 x 1% = 2,558
12) =wlad= 320-12 (35,529,010 X 1% X 4.5%= 1,599
13) AR 320-12 |35,529,0109 X 1% X 3.12%= 1,109
14) x29147) QR 3 320-12 |1,109,000¢ X 1% X 6.55%= 73
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T EA A (cFe] : 19
o A=)
?};j ﬂg_g AFA U < A= EU o 2018€(A) | 20174 (B) 7 (A-B)
15) 1813 320—12 35,529,000 x 1% X 1.5%= 533
16) AFA 5.3 320—-12 |35,529,000€ x 17 x0.8%= 285
AB T AT H 152 A 3,920 2,640 1,280
1. g u g2 3 3,920 2,640 1,280
7} 3 ad wpetek )8 3,920
1) £98= 210—-01 20,0009 X 20% x 23] = 800
2) AArTT 210-06 40,0009 X 36 x 23] = 2,880
3) 7HAIH] 310—-01 |3,0009 x40 x 23] = 240
A5 a2 3t 2,666,840 846,195 1,820,645
St AS A3 <Y 478,780 117,995 360,785
1. AS TS e9 478,060 117,290 360,770
7h AS WA A 760
1) S98= 210—-01 |20,00091 X 10%= 200
2) 2] 210-04 |8,000€ %707 = 560
e KT S R 600
1) 98 210-01 |30,000¢1 X 10% x 23] = 600
=S h R 476,700
1) $98= 210-01 |10,0009%1,212= 12,120
2) 2w 210—-07 200,000 X 295 x5 x 6tf= 174,000
3) FIEYER 104,980
7hH et 210-12 1,450 X809 X 29F x5YU= 16,820
) ook A+ 210-12 |1,0009 x80™ x 295 x 5% = 11,600
th AlEl$9 %+ 210—-12 13,3009 X 160 X 295 x 5 = 76,560
4) AR 185,600
7hH L5k 310—-01 |40,000¢ X 4™ X 295 X 5% X 2A] 7h= 46,400
) tjored 4 310-01 |40,0009 X 4™ X 295 x 5% X 2A] 7h= 46,400
th AlEl$9 % 310—01 |40,000¢ X 8™ X 295 X 5% X 2A] 7h= 92,800
2. AXEZAAA Y 720 705 15
7}, A ZTFARA 720
1) $98= 210-01 |20,0009 X 4%= 80
2) 2] 210-04 |8,0009l %15 = 120
3) AAMY 210—-06 |40,00091 X134 = 520
- BF-SHEEAY - AFu YA - SuAgBY AL 21/58




7187 AR LA S A9 (9] - A )
= [e) 1=}
wopvy S0 | 2R | AT NERE 2 4% Ao} 20189(A) | 2017d(B) | 2%(A-B)
AZSHTEXY 228,000 228,000 0
1. SAFELY 228,000 228,000 0
7h SAEEED 188,000
1) 2538t 620-03 |400,000¢) x 280 = 112,000
2) =& 76,000
7hH &9 620-03 |400,0009 x 1909 = 76,000
U AlSF AL 40,000
1) $983F 210-01 |20,0009 X 5% x 23] = 200
2) THLE 210-01 |250,0009 X 40%= 10,000
3) AAHA KBS 210-09 |1,100,000¢ x 28] = 2,200
4) FolAn| £ 210—13 300,000 x 129 = 3,600
5) 28] 310-01 |8,000€l X507 x 358 = 14,000
6) 1] 310-01 |40,0009 X507 x 58] = 10,000
SaASA LA ANA 1,960,060 500,200 1,459,860
1. SR ASA LT 1,960,060 500,200 1,459,860
7h g xuE A4 WA S8l = 1,829,590
1) AAm 420-02 |1,726,610,0009 X 4.42%= 76,380
2) A4 1,726,610
7h EA A A ST = 420-03 |2,410,0009 X 680m'= 1,638,800
) EEFA} 420-03 |87,810,0009 % 12]= 87,810
3) 7+a)n) 420-04 |1,726,610,0009) % 1.106%= 19,100
4) N AR 420-05 |1,726,610,000€l X 0.432%= 7,500
WA SR AL SN 120,470
1) AAm 420-02 |110,943,0009 X 8.587%= 9,527
2) A]AH] 110,943
7h Ak A A 420-03 |82,469,0009 x 1] = 82,469
) AR A 4A 420-03 |1,238,0009 x 23m'= 28,474
t}. o] @ o) o] A K &= 10,000
1) FAR L= 620-04 |10,000,000¢ % 1= 10,000
EYFEXY 17,765 16,480 1,285
23 aS84 3} 13,620 12,980 640
IR EEE 8,160 7,520 640
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(R EE P EAE T ERARE CEREE

2] 2 S 1=
pohyy 1S3 ?};3 ﬂg NERE = A 20184 (A) | 20174 (®B) | Z7(A-B)

b AZ AR EEHAEY 5,150

1) $98= 210-01 |40,00091 % 14% x 53] = 2,800

2) A 210-06 |40,0009 x5 = 200

3) 93 230-02 15,0009 x 12 = 180

U ArdwstdsunS e 199 2,100

1) S99 210-01 20,0009 X 5%= Bt

9) Tg7¢e o] 210-15 1,000,0004 x 25 = 2,000

o} ol s o) # - 2880

1) $oe= 210-01 |20,0009 x 23% x 28] = 940

2) AAFE 210-06 |40,0009 x 207 = 800

3) & 2|3 230-02 |15,0009 x 187 x 28] = 540

4) 7HAn| 310-01 |3,0004€1 %200 = 600
2. o]do| 7| d AL A 5,460 5,460 0

7}, o Aol agat 0460

1) AZ) 210-01 10,0009 %5218 = 5,210

2) AFAFA o] A 210-01 |3,0009 x597)= 17

3) AFArel ) 210-01 |1,2309x597)= 73
eSS |2 FRITAV L 5A 4 4,145 3,500 645
1. 2R EE MY 252 9743 4,145 3,500 645

7}, o sk g A P oty 0,020

1) ¢ g% 210-01 |20,0009 X 5%= 100

) Z=el 7 210-07 |700,0009 x 1t)= 700

3) A3 210-15 |24,0009 x 407 = 960

4) An] 310-01 |8,0009 X 407 x 38]= 960

5) <k 310-01 |30,0009 x 307 = 900

. ol dof st o) 8 345

1) £98% 210-01 |3,0009 % 35%= 105

2) A 210-06 |40,0009 x 673 = 240

ot TR A A AR He0

1) $oex 210-01 |20,0009! X 9% = 180
FYAGA & 44,348 35,407 8,941
BEA =X 38,124 0 38,124
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A% (9] - )
)=]
ﬂg PR A= A2 o 2018 (A) | 20179(B) | Z7(A-B)

1. AT FAA 33,370 0 33,370

7F. B R QA -9-m] 3] - 83,370

D asdd 30,130

7h ZA (D) 210-06 |160,0009 x 173 = 160

) & o3 230-02 10,0009 X 20% = 200

h dudES 29,170

(1) 258 27,240

b 5401 610-01 |2,100,0009= 2,100

WP 2HA72) 620—-03 |25,140,0009= 25,140

(2) gt 2,530

b 2@ 620-03 |2,530,0009= 2,530

2) SuHHAELY 3.240

7h dudEw 3,240

(1) %3t 2,800

b 29 (61) 620-03 |2,800,0009= 2,800

(2) st 440

b 0w 620-03 440,00091= 440
2. SPAAR 4,754 0 4,754

7h. SHARF w2 54 A 4,604

1) H3&H) 210-01 |3,0009 x186% = 558

2) 21n] 210-04 |8,000€ X 186% = 1,488

3) 7+21H] 210-04 13,0009 x186%= 558

4) 2}FoxtE 210-07 400,000¢ x5t)= 2,000

L. o dol=ol A d A A 150

1) &) 150

7hH ALE G 210-06 70,0009 x 14 = 70

h 21n] 210-04 18,0009 x5 x 28] = 80
St Z oA 6,224 35,407 £~29,183
1. 7 Z g Adntx g 2,324 12,149 A9,825

7h S el 2,324

1) 9% 210-01 |35,0009 X 10& x 23] = 700

2) v 210-01 |14,000€ X 30 x 24| 3= 84

T - AF-FdEA

— FANGA T — Sy EH Y
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7137 s e Ak S X GO ERE)
Z o )=
wopvy S0 | 2R | AT Aripel %A% AU 20184 () | 20179 (B) | S7(A-B)
3) 28] 210-04 [8,0009 X 175%= 1,400
4) IR (dnh) 210-06 |70,0009 x 2% = 140
2. AR =X ¢ 3,900 3,700 200
7} St oA g A 2,700
1) $98= 210-01 |20,0009 x11% x53]= 1,100
2) 28] 210-04 |8,0009 x5 x 209 x 28] = 1,600
L A EA = 1,200
1) ¥93 230-02 15,0009 X 40 x 23] = 1,200
[ PAR= RS R ] 275,207 252,997 22,210
A B2 2] 9 275,207 252,997 22,210
1. $l (Wee) T2 A EL-Y 275,207 252,997 22,210
7} 1 7H) 183,374
1) 32 A 33,174
7hH 71¥ 5 110-04 |2,245,1909x 148 x12¢¥= 26,942
W) dAxpg 110-04 73,9209 x 18 x15%= 1,109
th) AR 110-04 13,860€ X 11 X 1204 7= 1,663
Zh) FAn] 110-04 130,0009 %1% x129= 1,560
np) A7) Ak = 110-04 |250,0009 x 17 x 23] = 500
vl A7) 110-04 500,000 x 17 x 23] = 1,000
AP) b B )] 240-02 |400,0009 x 1% = 400
2) AE7dEAt 118,643
7h 7185 110-04 |1,977,9109 x4 x129= 94,940
W) dAxled 110-04 62,5409 x4 x16Y= 4,002
h JdFTEFY 110-04 12,2109 x 47 x 1204 7k= 5,861
) F21n] 110-04 130,0009 x4 x 129 = 6,240
v 7)ol 110-04 250,0009 % 4% x 23] = 2,000
uh) wd &7 110-04 500,000 x 4% x 23] = 4,000
Ap) @33 2 Ay 240-02 |400,0009 x 4= 1,600
3) A3 E-Z A} 31,557
7hH 7 EF 110-04 |1,787,6709x 1Y x12¢€= 21,452
W) Az 110-04 69,7209 %1% x 16U = 1,115
o dFLESFS 110-04 13,0809 X 11 X 1204 7k= 1,570

e

FEAd - 7

s - SRR
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CA)

A S == A5 AU S 2018 (A) | 20174 (B) ZH(A-B)

2}) F2H) 110—-04 [130,0009 x1%¥ x129= 1,560

ul) A 7)Aol = 110-04 |250,0009 x 17 x 23] = 500

v A7 257 110-04 |270,000¢9 x 1 x12€= 3,240

AP WEH ZH] 110-04 [60,0009 x18 x129= 720

oh) WAZ M) 110-04 |500,0009 X 17 x 23] = 1,000

Z}) BrEE E ] n) 240-02 400,0009 x 1= 400
. B A= 15,917
1) QA gAY 320-12 |2,657,0009 x 1% = 2,657
2) AEAFEA} 320-12 12,681,860 x4 = 10,728
3) A3 & A} 320-12 12,532,390 x 1% = 2,532
ot A 18,566
1) Zwod= 320-12 |183,374,0009 X 4.5%= 8,252
2) AAR3 320-12 |183,374,0009 x 3.12%= 5,721
3) =7 QokR 3 320-12 |5,721,0009 X6.55%= 375
4) 1813 320-12 |183,374,0009 X1.5%= 2,751
5) ARl R 3 320—-12 |183,374,0009 X0.8%= 1,467
g}, AEA kol 2 o n) 220—01 20,0009 X694 x1203] = 14,400
o}, -9 n] 37,000
1) &9 210-01 |250,0009 x129= 3,000
2) EAA 7| FE 4] 210-01 150,0009 x58 = 750
3) T LT HLAA 210-02 700,000 x 129 = 8,400
4) 2EEl e 210-07 | 1,600,000¢ X 1t]j= 1,600
5) IR 19 21015 |2,000,000¢] X 53]= 10,000
6) Aal AL 210-15 [200,0009 x53]= 1,000
7) EHEZAZ 210-15 |1,000,000¢ x 33]= 3,000
8) Agl x| = 210-15 |500,000¢ x103]= 5,000
9) 7+l A 210—15 250,0009 X538 = 1,250
10) 915=H) 210-15 |1,000,000¢ X 33]= 3,000
v, AL S 5,950
1) AFEE 430-01 1,150,000 x4dj= 4,600
2) 7] 430-01 |450,0009 x 3= 1,350

74,800 69,800 5,000
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714 - AR ST A RS A A (Sl @ H9)
= o A=)
wopvy S0 | 2R | AT NERE 2 4% Ao} 20189(A) | 2017d(B) | 2%(A-B)
N2 S 74,800 69,800 5,000
1. AZAF=ZZ IRLY 74,800 69,800 5,000
75 A2 g S Y AE S e 210-13 |60,000,0009 X 17]7] &= 60,000
U, 87| 2SSt m ANt S | 2 A E Qe 210-13 |14,800,0009 x 17§7) &= 14,800
A A ke A 10,330 10,188 142
gAY g B 10,330 10,188 142
1. 28 EA AT IR 10,330 10,188 142
b FSa AP 10,330
1) $98= 210-01 |20,0009 X 8% x 23] = 320
2) AAA PS5 210-01 |5,600,000¢ x 12} = 5,600
3) A=A = 210-01 |3,5009 X 400%= 1,400
4) AESTY 210—06 40,0009 x 8% x 83| = 2,560
5) 9] 3 230-02 15,0009 X107 x 33| = 450
AESEX R Y 20,897,067 17,539,443 3,357,624
P15 RS R | 188,778 188,778 0
17138 7 9 188,778 188,778 0
IR T P Fa P 1,278 1,278 0
7F AALE TG 110-04 |[11,0909 X 116A1t= 1,278
2. EEmg gAed 187,500 187,500 0
7F x4 62,500
1) =9 620-03 12,500,000 x 27} 9= 25,000
2) AHY 620—10 |12,500,000¢ x 37191 = 37,500
L 25t 620—03 3,125,0009 X 407= 125,000
FAA 4 17,055,173 16,210,465 844,708
gy ZEFA18] A 17,055,173 16,210,465 844,708
1. 3ol2R g 32 1,302,029 1,261,865 40,164
7F 429 620-03 |119,406,000¢ = 119,406
U 2538y 620-03 |762,070,000¢ = 762,070
o}, =8k 275,855
1) =9 620-03 |263,447,0009= 263,447
2) AH 620-10 12,408,000 = 12,408
g2t 158w 144,698
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AhE

20184 (A)

20173 (B)

w.
b o
oft 3 off

ol Hl

620-03

620-03

610-01
620-03

620-03
620-10

620-03
620—-10

620—-03

620-03

620-10

620-03
620—-10

620-03

610-01
620-03

620-03
620—-10

620—-03
620-10

144,698,000 =

376,952,000¢ =

222,680,0009=
5,574,923,000¢ =

2,954,395,000¢ =
885,931,000¢ =

1,583,573,000¢ =
1,085,862,0004 =

95,418,000 =

480,909,000¢ =

254,562,0009=

59,784,000¢ =
26,505,000¢ =

25,599,000¢ =

9,935,000 =
349,454,000¢ =

142,173,000 =
32,667,000 =

120,431,000 =
78,972,000¢1=

144,698
12,779,734
376,952
5,797,603
222,680
5,074,923
3,840,326
2,954,395
885,931
2,669,435
1,583,573
1,085,862
95,418
95,418
821,760
735,471
480,909
254,562
86,289
59,784
26,505
762,925
25,599
359,389
9,935
349,454
174,840
142,173
32,667
199,403
120,431
78,972

12,272,678

634,060

615,000
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(9] - )

Abd Wi < = A= o 2018 (A) | 20179 (B) | TH(A-B)
uf, Esky 620-03 |3,694,0009= 3,694
5. ARAFAEA L 1,388,725 1,426,862 38,137
7} x4 620-03 |38,624,0009¢ = 38,624
B 551,123
1) =9 610-01 |15,930,000¢ = 15,930
2) 29 620-03 |535,193,000¢ = 535,193
t} =8kw 363,802
1) 29 620-03 |295,861,000¢ = 295,861
2) AFY 620-10 |67,941,000¢1= 67,941
g} 158w 427,054
1) 29 620-03 |257,922,0009= 257,922
2) AFY 620-10 |169,132,000¢ = 169,132
v}, B4k 620-03 [8,122,0009= 8,122
NS AMNA 726,923 0 726,923
5gdsA e 726,923 0 726,923
EXSESTE ] 726,923 0 726,923
7h oAEdEgngd s AL 726,923
1) thepdx 726,923
7h A A 8] 420-02 |674,335,0009 X5.3%= 35,740
) A4 420-03 |674,335,0009 x 12 = 674,335
t}) z+eln) 420-04 |674,335,0009 X 1.81%= 12,204
2}) A E ) 420-05 |674,335,0009 X0.69%= 4,644
ASERS 1,115,873 1,140,200 724,327
SR 1,115,873 1,140,200 724,327
ISEA AR GA L 1,115,873 1,140,200 N24,327
7} ASER A A Y 1,065,873
1) 2538w (251) 620-03 [604,400,000¢ = 604,400
2) =g 417,273
7h &9 (71) 620-03 |259,300,000¢ = 259,300
) AH (2) 62010 |157,973,0009 = 157,973
3) A T 620-03 44,200,000 = 44,200
v WS w5 A 4 13,090
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AR R I R S A i e B (9] : 24
Z o )=
wopvy S0 | 2R | AT Aripel %A% AU 20184 () | 20179 (B) | S7(A-B)
1) ¥SEX]Y 8,250
7hH o ex 210-01 |16,0009 x10%F x1038]= 1,600
) za A= 210-01 |15,0009 x4F x50%= 3,000
th 993 3,650
(1) ZFX+ 210—06 [80,000¢ x 27 x203] = 3,200
(2) g93 230-02 [15,000¢9 x 159 x 23] = 450
2) AXE 2] e 4,840
7hH odn] 4,840
(1) ) 220-01 |20,000¢] x 2% x 6038 = 2,400
(2) &4 220-01 |40,0009 x 2% x 273]= 2,160
(3) 9] 220-01 |70,000¢] x 27§ x 28] = 280
o}, Abe] BAl A 524 14,700
1) 0522 A A 5 14,700
7h sEEoll =AY 210-01 [20,0009 x35A= 700
W) das 210-01 |10,0009 x 31 x 37 x 124 7= 1,080
th w571 210-01 100,000 x10% x 33]= 3,000
) wAFSkEE ol A Y 240-01 |1,500,0009) x 38 = 4,500
ul) k1) 310-01 |3,0009 X557 x 43]= 660
\p) A1H) 310-01 |8,000¢ x55% x 43]= 1,760
AR A (DED) 3,000
(1) 7|1& 310-01 |160,000¢] x 373 x 43]= 1,920
(2) =3 310—01 [90,000¢ X 3% X 4A] 7= 1,080
2} WA AL 2,210
D 71884 2,210
7hH 9718k X B2 X A 210-06 [50,000¢ x333]= 1,650
) 2] 310-01 |8,0009 x 79 x 108 = 560
ok, A o A E ALY 20,000
1) AP B =z 7 210-13 |5,000,000¢ x 47§7] = 20,000
iy V2 P 1,810,320 0 1,810,320
PR Y 1,810,320 0 1,810,320
1. 25y g A FAA L 1,032,556 0 1,032,556
7} 258 620-03 |1,032,556,00091= 1,032,556
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7187 AR LA S A9 (9] - A )
) = o9 Al H -
H ol B o ° < l A eS| A=) (574 Al =13 14 14 Z7) (A —
Bopnm e e 4 e = A o 2018 (A) | 20174 (B) 54 (A-B)
2. 2T A FAEAAR Y 777,764 0 777,764
7F BElEE 620—03 632,982,000 = 632,982
U A Estk 620—10 |144,782,000¢= 144,782
RA/F/ASE8= 1,006,612 67,607 939,005
HAAE 13,402 13,222 180
SR AR 4,512 4,332 180
1. RANS ALY 4,512 4,332 180
7} RA WA S 1,512
1) $98= 210-01 20,0009 X 10% x 33] = 600
2) 91% 210-01 |14,0009 x 31l X GA] 7= 252
3) AT (dHh) 660
7hH 71 & 210-06 70,0009 x 278 x 33| = 420
W) =3 210—06 40,0009 X 27 x 3A] 7}= 240
U AR S A H A 7 U ] & 3,000
1) AFEn] 210-01 100,000¢ X 3071= 3,000
st 87 9 A A 8,890 8,890 0
1. tu g =E#g 700 700 0
7F BT A AR 700
1) $98= 210-01 20,0009 x5%&= 100
2) ArSET R 210-01 10,000€¥ x603]= 600
2. ¥ NFHUSHAARS 8,190 8,190 0
7h B53H H 5 93 7,830
1) FA5g) 210-06 80,0009 X108 x 93] = 7,200
2) 393 230—02 15,0009 X147 x 33] = 630
v Fe A s 360
1) o3 230—02 15,0009 x 8% x 33| = 360
2473 957,194 18,561 938,633
st F2 A g 5,216 5,216 0
1. 2AESHRLY 5,216 5,216 0
7}, Sh A A A A S 2,716
1) S99= 210-01 20,0009 X 15% x 43] = 1,200
2) d1s 210-01 |14,0009 X 3u] X 8A|3t= 336
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4% e
)=
s A %A% eSS 20184W(A) | 20179(®) | S2(A-B)
3) WS 210-01 [150,0009 x 2% = 300
4) AR (YD) 880
7h 7)1 5 210-06 |70,0009 x 27 x 43]= 560
W) =3 210-06 |40,0009 x 27 x 44| 7= 320
. St A e (501) | 310-01 50,0009 x 2591 x 23] = 2,500
ISR RO 36,014 13,345 22,669
1. g2 &84 20,000 0 20,000
VA= EAPARS =Rc) 430-01 |20,000,0009 % 1t)j= 20,000
2. S FA kxS A 16,014 13,345 2,669
7}, B2 2}eke-od ) 620-03 |2,669,0009 x 6tj= 16,014
s FAEAH A 915,964 0 915,964
1. S FA7) A E S 915,964 0 915,964
o a2Addds 674,185
1) T2 g 615,393
7h A A 8] 420-02 |572,580,0009 x4.496%= 25,743
) A 572,580
1) =94 420-03 |2,337,0009 X 140m'= 327,180
(2) 24 420-03 |1,636,000¢ X 150m'= 245,400
t}) 7+elH) 420-04 |572,580,0009 X 1.401%= 8,022
2}) A E ) 420-05 |572,580,0009 X0.707%= 4,048
o) 7)) A ) 620-04 |5,000,0009 x 124 = 5,000
2) Mt sdEadg 58,792
7h A A 8] 420-02 |56,088,0009 % 4.1%= 2,300
) A Al 420-03 |2,337,0009 X 40m X 60%= 56,088
th A AR 420-05 |56,088,0009 % 0.72%= 404
. =g A7 TR A 241,779
1) =S8 w(211) 620-03 |120,050,000¢ = 120,050
2) =% 47,415
7hH &4 (631) 620-03 |42,305,0009= 42,305
) AR (1a0) 62010 |5,110,0009= 5,110
3) 15w 74,314
7h &4 (61) 620—03 63,902,000 = 63,902
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AR X % (9] - )

o A=)
?};3 ﬂg PRSIL == AESE 20181 (A) | 20179(B) | Z7(A-B)

W) A (33) 620—-10 |10,412,000¢ = 10,412
Z+E=A S E= 36,016 35,824 192
A= 3x g 36,016 35,824 192
1. A=HS03x ¢ 5,360 5,160 200

7k A=A S 3 5,360

1) $98= 210-01 20,0009 X 30%= 600

2) N H 310-01 |200,0009 %108 = 2,000

3) =471 2,760

7hH 258w 620-03 92,0009 x15%= 1,380

W) Faw 620-03 92,0009 x15%= 1,380
2. AZ2d A S 3 12,600 12,600 0

7h A= AdAS Y 3] 12,600

1) A=m3 310-01 |200,0009 x10€ = 2,000

2) =471 10,600

7hH 2588w 620—03 |53,000¢ x 257 x 43] = 5,300

W) Faw 620—03 |53,0009 x 257 x 48] = 5,300
3. 71ekA| S g 18,056 18,064 A8

7h. a5zl o 3 5,200

D A AAS ) 3] 2,000

7h Qe E 210-01 |20,0009 X 20% x 28] = 800

) 2] 210-04 |8,0009 x150% = 1,200

2) 2471 310-01 |40,0009 x 807 = 3,200

[ A = 8,536

1) 73] 3,996

7hH 9 LE 210-01 [30,0009 X 18F x53]= 2,700

W) gy 210-06 40,0009 %279 = 1,080

th) An 310-01 |8,0009 %279 = 216

2) T3 2,680

hH 8= 210-01 |20,000€ X 20% x 53] = 2,000

W) Aso 210-06 |40,0009 x 147 = 560

th) Aln 310-01 |8,0009x15% = 120

3) R3] 1,860
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(9] - )

i A AFA U < A= ArEU S 20184 (A) | 2017 (B) Z(A-B)
A | AR
7h 98+ 210-01 20,0009 X 13% x 35]= 780
) AFEn) 210-01 150,000€ x4¥ = 600
th Asgnt 210-06 |40,0009 X124 = 480
o}, A S 3 4,320
1) *98= 210—01 20,0009 X 20% x 53] = 2,000
2) AFEn) 210—01 200,0009 x 88 = 1,600
3) Ao 210-06 |40,0009 x 9% x 28] = 720
A AR AL 31,439,312 32,509,810 A1,070,498
3§ H| A 21,123,510 22,133,229 21,009,719
iRt B P ) 21,123,510 22,133,229 A1,009,719
1. St 7| 28] 20,752,667 21,828,770 21,071,103
VAR ) 620—02 |1,928,942,000¢ = 1,928,942
U, 258w 620—02 13,754,926,0009 = 13,754,926
o}, Z=8kw 620—02 |5,068,799,000¢ = 5,068,799
2. w7291 Y 370,843 309,459 61,384
7}, st 7N A 370,843
1) 258w (11w) 620—04 [231,563,0009= 231,563
2) Fstw(21) 620-04 |59,280,0009= 59,280
3) 115w (1w) 620—04 [80,000,0009= 80,000
AFeHA A =) & 10,315,802 10,376,581 ABO,779
AAN AR AETA L 8,802,030 8,844,954 242,924
1. QA AR AT R Z 8,802,030 8,844,954 242,924
7} a7An A Y 620-08 |8,802,030,000¢= 8,802,030
L-GH| AR ATFA Y 1,513,772 1,531,627 217,855
1. £Gv| AR E SR Z 1,380,646 1,531,627 A150,981
7}, B 7| B8 620-09 |1,380,646,00091= 1,380,646
2. AHg &t w7 eR | A A 133,126 0 133,126
7}, mEstE ol A 133,126
1) 8w (11) 620—10 |44,000,0009= 44,000
2) 153w (21) 620—10 189,126,0009= 89,126
RS AMNAAAL 21,999,166 20,837,190 1,161,976
EXEERE! 2,503,644 0 2,503,644
WEFeuF — StuunFAANAAE — g2 A 34/58




GO )

A S == A5 AU S 2018 (A) | 20174 (B) ZH(A-B)

A 2,503,644 0 2,503,644

1. 834 2,503,644 0 2,503,644
R == ] 1,344,633
1) A AMm] 420-02 |1,273,217,00091 X 3.872%= 49,298
2) AlAdH] 1,273,217
7hH wAlEE 420-03 |121,040,0009 x 44 = 484,160
W) spga=s= 420-03 |115,960,000¢ x 24 = 231,920
) Agaus == 420-03 |54,070,0009 X524 = 270,350
Zh) Aaa== 420-03 |60,520,0009 x 224 = 121,040
vl 7| %R} 420-03 |50,000,0009 x 14 = 50,000
v F oA 22l 7 el 420-03 |115,747,0009 x 14 = 115,747
3) 7+ 420-04 |1,273,217,0009 x1.21%= 15,405
4) A AR 420-05 |1,273,217,0009 X 0.527%= 6,713
v TAA D E s FAIAE Y 1,159,011
1) AlAH] 1,138,290
7hH wA== 420—-03 |121,040,0009] x 44 = 484,160
W A== 420-03 |54,070,0009 x 34 = 162,210
h A== 420-03 |115,960,0009 x 221 = 231,920
2hH 2R e 420-03 100,000,0009 x 124 = 100,000
) SR NZ= 420-03 |160,000,0009 x 12 = 160,000
2) 7Z+a)H) 420-04 |1,138,290,0009 % 1.21%= 13,775
3) A 420-05 |1,138,290,0009 X 0.61%= 6,946

620,729 1,377,887 A757,158

M= 620,729 1,377,887 AT57,158

1. 24d5% 430,723 642,159 A211,436
7h ez a4 158,382
1) AAm] 420-02 |145,507,0009 X6.116%= 8,900
2) A’y 145,507
7hH wAEEE AN 420-03 |145,507,0009 X 141 = 145,507
3) 7+e]n] 420-04 |145,507,0009 x1.914%= 2,785
4) A2 420-05 |145,507,0009 X0.818%= 1,190
U FUEx 272,341
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(9] - )

)=
ﬂg_g A S == A5 A 2018 (A) | 20174 (B) ZH(A-B)
1) A Am] 420-02 |250,026,0009 X 6.15%= 15,389
2) A]Adn] 250,026
7H gEA wal 420-03 [1,377,0009 X 138m'= 190,026
) Fof FAF 420-03 130,000,000¢ x 14 = 30,000
o) 72" 7 420-03 30,000,000¢1 x 124]= 30,000
3) 7+gln] 420-04 [250,026,0009 X 2%= 5,013
4) A B n) 420-05 [250,026,0009 X 0.76%= 1,913
2. =¥ AL EHA 9,085 28,728 A19,643
N = 9,085
1) AlAdH] 9,085
7 Al g2 A 620-04 |9,085,0009 X 12]= 9,085
3. FuAA 180,921 0 180,921
P i 70,278
1) A AN 420-02 |66,672,0009 x4.39%= 2,926
2) Al 66,672
b ZasE 420-03 |926,0009 X 72m'= 66,672
3) Al 420-05 |66,672,0009x1.02%= 680
v ZAR 45,613
1) 2 A 420-02 [43,240,0009 X 4.48%= 1,937
2) AldnH] 43,240
b AusE 420-03 |1,081,0009 X40m'= 43,240
3) Al H-tH] 420—-05 |43,240,0009 x1.08%= 466
o} AR Z (R} A]) 65,000
1) AW 420-02 |59,727,0009 x8.13%= 4,856
2) Al 59,727
7H 2 A A|A 420-03 |926,0009 X 64.5m'= 59,727
3) Al E 1] 420—-05 159,727,000 X0.698%= 417
A 18,874,793 19,459,303 A584,510
DA W EJA A 18,874,793 19,459,303 A584,510
1. A SA 6,659,943 5,913,240 746,703
7}, vfe R 1,746,558
1) AlAdn] 1,739,060

m

AN — B ANAANNE — St A w2 A
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A S == A5 ArEU Y 2018 (A) | 20174 (B)
7hH Fex 420-03 16,050,000 x 24 = 32,100
W) AlEx 420—03 16,050,0009 x 142 = 224,700
th) ofn| =il 420-03 |16,050,0009 x 42 = 64,200
2 FEx 420-03 |16,050,0009 x 184 = 288,900
vh ysx 420-03 [16,050,0009 x 32 = 48,150
1h) A3 E= ) 420-03 |16,050,0009 X 4.5 = 72,225
AP Q3 % (E3) 420-03 16,050,000 x 154 = 240,750
oh) MAx 420-03 [16,050,0009 x8.54 = 136,425
) b 420-03 |16,050,0009 x 24 = 32,100
2H Fdx 420-03 |16,050,000¢ X 94 = 144,450
7hH JEH 420-03 16,050,0009 x 74 = 112,350
Ep Aka 420-03 |16,050,0009 x 34 = 48,150
) ARSI 420-03 |18,410,0009 X 1621 = 294,560
2) AAAFn) 420-05 1,739,060,0009%0.431%= 7,498
. A3 1,457,385
1) AlAdn] 1,450,904
7hH A= (5 420-03 196,0009 x50 = 9,800
) Ak 420-03 20,450,000 x 144 = 286,300
th ApokE 420-03 20,450,0009 x 22 = 40,900
2}) AL 420-03 120,450,0009 x 184 = 368,100
v T 3}stw 420-03 |20,450,0009 x 364 = 736,200
vh) zpokE (v 620-04 196,000 x 494 = 9,604
2) A]@_%ﬂ]u] 420-05 1,450,904,0009%0.447%= 6,481
o} % 158,387
1) A]AH] 157,760
7H Az 420-03 |5,440,0009 %114 = 59,840
W) AT (Z7D 420-03 2,130,0009 x 184 = 38,340
oH FAR T (A=Y ) 420-03 3,310,0009 x 184 = 59,580
2) Al oju] 420-05 [157,760,0004 X 0.396%= 627
2}, v 1,416,148
1) AlAdn) 1,408,649
7h om| =R W 420-03 8,690,000 x 24 = 17,380

A4 - AHBAAAAA - AL RA AN
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AFA U < A5 ArEU S 2018€(A) | 20174 (B)
W) FEx 420-03 |8,690,0009 x5.54 = 47,795
oh FEx 420-03 |8,690,0009 x4.54 = 39,105
Zh) Arrx 420-03 |8,690,0009 x 34 = 26,070
up) 3% 420-03 |8,690,0009 x 44 = 34,760
Hh) EE2%x 420-03 |8,690,0009 x 2324 = 199,870
A TlokEx 420-03 |11,297,0009 x 724 = 79,079
oh) Fwx 420-03 |8,690,0009 x 84 = 69,520
2 olg] &= 420-03 8,690,000 x 334 = 286,770
2P FAdx 420-03 |8,690,0009 x 1324 = 112,970
7H UL x 420-03 |8,690,0009 X 64 = 52,140
Eh AlFx 420-03 |8,690,000¢) x 34 = 26,070
) AxE 420-03 |8,690,0009 X 74 = 60,830
3 Apor= 420-03 |8,690,0009 x 24 = 17,380
) UxZ 420-03 18,690,000 x 92 = 78,210
Y) b 420-03 |8,690,0009 X104 = 86,900
) FAME 3 (2T 420-03 |8,690,0009 x 74 = 60,830
) Tabs (S 420-03 |8,690,0009 x 92 = 78,210
™) A&l 420—03 8,690,0009 x 42 = 34,760
2) A|AXgyn) 420-05 |1,408,649,0009 X 0.532%= 7,499
nf, oWl B 2 482,094
1) A|Adn] 478,648
b gz 420-03 [12,596,0009 %524 = 62,980
W) 4% 420-03 |12,596,0009 x 1341 = 163,748
o AL 420-03 |12,596,0009 x 204 = 251,920
2) A|AXgn) 420-05 |478,648,0009 X 0.728%= 3,446
S| B == 37,005
1) A A 37,005
7P AR 420-03 150,000 X 162.6m'= 24,390
W} 3= 420-03 |12,615,0009 x 1= 12,615
Ab A g 1,163,823
1) A2 1,157,312
7h Sakx 420-03 |65,360,0009 %12 = 65,360
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A S == A5 AU S 2018 (A) | 20174 (B) ZH(A-B)

) zpok= 420-03 |75,830,0009 x11.5% = 872,045

h &= 420-03 |75,830,0009 x 221 = 151,660

2} Aex 420-03 |75,830,0009 X 45% x 221 = 68,247

2) A|AXgyn) 420-05 |1,157,312,0009 X 0.563%= 6,511
of. & 115,700

1) A4 115,700

7hH B9 ) 420-03 |1,820,000€ x 302 = 54,600

W) 3% () 9)H) 420-03 |2,350,000¢1 x 2621 = 61,100
b, AR RS 82,843

1) A A 82,575

7 F3 = 420-03 |3,670,0009 % 10.5% = 38,535

W) 3z 420-03 |3,670,000¢1 x 1221 = 44,040

2) Al X)) 420-05 |82,575,0009 X 0.333%= 268
CEEAAANA 19,640 112,320 792,680
7} BRI AA 19,640

1) AL 420-03 |19,640,0009 X 17 &= 19,640
3.9 - IEAIEA 909,268 1,385,267 A~475,999
7 A A A A 909,268

1) A Al 903,420

7H yEx 420-03 |7,170,0009 x 12 = 7,170

W) n)Adx 420-03 |7,170,000¢1 x 202 = 143,400

o AFx 420-03 |7,170,0009 x 104 = 71,700

@) EEx 420-03 |7,170,00091 x 192 = 136,230

ol A% 420-03 |7,170,0009 x 1321 = 93,210

v Uo-x 420-03 |7,170,00091 x 34 = 21,510

AP Y= 420-03 |7,170,000€ x 3021 = 215,100

o}) FArAFI1 420-03 |7,170,000€1 x 304 = 215,100

2) Al Xg)n] 420-05 [903,420,0009 X0.647%= 5,848
4, ZEAXEAA 60,000 0 60,000
A ek e P R 60,000

1) A2 60,000

7h Ak 420-03 |60,000,0009 x 12 = 60,000

m
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ﬂ:g At S A e 20184 (A) | 201794 (B) | FH(A-B)

5. Al etA A 5,297,806 4,369,863 927,943

7F W 27 1,910,595
1) Aldn] 1,824,258
7h A1&% 420-03 90,0009 x4,659m'= 419,310
W 2E8x 420-03 [90,000€ x3,790m'= 341,100
oh FEx 420-03 [90,000¢1 x 3,904 m'= 351,360
2 4= 420-03 1129,0009 x2,392m' = 308,568
up) FARGE 420-03 90,0009 x 4,488 m'= 403,920
2) WA sE 719580 74,096
7h gdx 420-02 |26,896,0009 x 14 = 26.896
W) Habsx 420-02 47,200,0009 x 14 = 47,200
3) ARt 420-05 |1,824,258,0009 X 0.671%= 12,241

v H (M) A 1,909,812
1) AlAdn] 1,896,730
7hH 3% (3Hs) 420-03 19,460,000 x8.54 = 80,410
W) F3xG8s) 420-03 |9,460,0009 x 94 = 85,140
o yex 420-03 ]9,460,0009 X 74 = 66,220
2h) 9y (E8%F) 420-03 9,460,000 x 152 = 141,900
) A3 % (F) 420-03 19,460,000 X 4.5 = 42,570
Hp) A& % (EHE) 420-03 19,460,0009 x 442 = 416,240
AP wFEx 420-03 19,460,0009 x 3.54 = 33,110
oh) Yxx 420-03 ]9,460,0009 X164 = 151,360
21 4 = 420-03 19,460,0009 x 8.54 = 80,410
Zh Ay (EdE) 420-03 ]9,460,0009 x 74 = 66,220
7hH ¥ = (FH%) 420-03 ]9,460,0009 x 34 = 28,380
Ep) AbE2 420-03 19,460,0009 x 124 = 113,520
) L= 420-03 19,460,000 X624 = 56,760
3h AR (FskE) 420-03 |9,460,0009 X 524 = 47,300
7)) A (A ) 420-03 |9,460,0009 x 92 = 85,140
u) A () 420-03 19,460,000 X 2.54 = 23,650
t]) H3tsw 420-03 19,460,000¢ x 404 = 378,400
2) AR 420-05 |3,930,630,000¢) X 0.333%= 13,082

m
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)=
ﬂg_g At == A= AEU S 20189 (A) | 20179(B) | TH(A-B)
L= e s e 68,212
1) Al 68,212
7h M= 420-03 [4,0009 x335m'= 1,340
) AR 420-03 |4,0009 x1,252m'= 5,008
) 2% (FAE) 420-03 [4,0009%X177m'= 708
) 5z (/A E) 420-03 |4,0009 X 177m'= 708
vhH Jysx 420-03 [4,0009 X 623m'= 2,492
v tokd % (EH%) 420-03 [4,000¢ x389m'= 1,556
AP Hotdx (57H%) 420-03 [4,0009 X 389m'= 1,556
oh) tholdx(Z&%) 420-03 [4,0009 x275m'= 1,100
Zh) mFE% 420-03 [4,0009 X 496m'= 1,984
2H ez 420-03 4,000 x178m'= 712
7h Adxkx 420-03 [4,0009 x165m'= 660
Eh) &4tz 420-03 |4,0009 X 330m'= 1,320
Ib) AAI =X 420-03 14,0009 X 247m'= 988
sh) ofv| =t 420-03 14,0009 X 290m'= 1,160
A Fex 420-03 [4,0009 x437m'= 1,748
) AFES 420-03 [4,0009 X 728m'= 2,912
o) dy=(EA%) 420-03 |4,0009x1,219m'= 4,876
o) Jdu=(HAE) 420-03 |4,0009 x171m'= 684
W) zpokz 420-03 14,0009 X540m'= 2,160
W) FAZ AT 420-03 |4,0009 x3,557m'= 14,228
M) A 420-03 |4,0009 x1,541m'= 6,164
o) A& (A ) 420-03 4,00091% 1,753m'= 7,012
A) A& (o] g 420-03 |4,0009 % 1,784m'= 7,136
o} &9 125,148
1) A AN 420-02 120,750,000 X 3.642%= 4,398
2) A 120,750
7hH AR %= 420-03 [483,0009 X 250m'= 120,750
vl A xR oHEA AN E 773,029
1) A]7dn] 757,870
7H o= A 420-03 164,294,000 x2.54= 410,735
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At < A& AU S 2018 (A) 2017 (B)
) 3kl 420-03 |121,080,0009 xX0.54 = 60,540
) AR A 420-03 |84,750,0009 X0.54 = 42,375
h) 71 Z=E7} 420-03 |30,000,0009 x 14 = 30,000
vh) thE-2 A E 7 420-03 [17,570,0009 x 34 = 52,710
Hh) RO EEA)A 420-03 |161,510,0009 x 14 = 161,510
2) 7r2|n) 420-04 |757,870,0009 X 1.327%= 10,055
3) A E o) 420-05 |757,870,000€1 X0.674%= 5,104
v}, 7| E}RS 511,010
D PG LA GRS 421,450
7h 5% 420-03 |471,000¢) X 60m= 28,260
) &A% 420-03 |54,070,00091 X 17 &= 54,070
o Ak 420-03 [471,0009 X 720m= 339,120
2) A BRI 89,560
7hH FYEXx 420-03 [14,780,0009 X224 = 29,560
W) 3% 420-03 |60,000,0004 % 1%&= 60,000
6. JEIAMA 1,001,875 1,341,944
7}, A 562,845
1) AN 562,845
7H YxEZ 420-03 |239,000¢) X 840m'= 200,760
W) ml8x 420-03 [239,0009 X 300m'= 71,700
) &% 420-03 |239,000¢) X 565m'= 135,035
2 3= 420-03 |239,000¢ X 50m'= 11,950
v FAME T 420-03 |239,000¢) X 600m'= 143,400
(B Bt 83,490
1) A4 83,490
7hH 2% 420-03 [253,0009 X 130m= 32,890
) v A% 420-03 |253,000¢) X 200m= 50,600
o} B 88,000
1) aFE % 420-03 |40,000,000¢ x 14] = 40,000
2) FHE % 420-03 |48,000,0009 x 14 = 48,000
g}, ddE T 206,700
1) Al 206,700
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A S == A5 AU S 2018 (A) | 20179 (B) | TH(A-B)
7h +absx 420-03 |1,590,000¢ X 20m= 31,800
W) yex 420-03 |1,590,000¢ X 10m= 15,900
o v Ex 420-03 |1,590,000¢ X 30m= 47,700
b ApokE 420-03 1,590,0009 X 70m= 111,300
up @ FAZE A 60,840
1) AlAdH] 60,840
7h AEZE 420-03 160,840,0009 X 17} 2= 60,840
7. AZIAA A 1,452,956 433,427 1,019,529
7}, 29 A4 (LED) 1,292,426
1) AlAdH] 1,285,250
7hH W&Ex 420-03 |2,650,0009 x 74 = 18,550
W) =9x 420-03 |2,650,0009 x 34 = 7,950
o) 23z 420-03 |2,650,0009 x 302 = 79,500
2 vkEx 420-03 |2,650,0009 x3.54= 9,275
v Ay % 420-03 2,650,000 X 4.54 = 11,925
Hh) Q3] % (E 3 A A 420-03 2,650,000 x 2241 = 58,300
AD A 420-03 2,650,0009 x 354 = 92,750
op) A&z 420-03 2,650,000 x 442 = 116,600
) YEX 420-03 |2,650,0009¥ x 164 = 42,400
2 FEEX 420-03 |2,650,0009 x 442 = 116,600
H 2¥8=x 420-03 [2,650,0009 x 284 = 74,200
Ep A% 420-03 2,650,0009 x 8.54 = 22,525
b A3 E 420-03 |2,650,0009 x 142 = 37,100
3h) A3 FE (T3, Sk 420-03 2,650,0009 x 3.54 = 9,275
7)) AR 420-03 2,650,0009 x 124 = 31,800
) FAE 420-03 2,650,0009 x 564 = 148,400
o) Hdw 420-03 |2,650,0009 x 402 = 106,000
) 9= 420-03 2,650,0009 x 194 = 50,350
W) AL 420-03 |2,650,0009 x 174 = 45,050
W) u]Adx 420-03 [2,650,0009 X504 = 132,500
A sldx 420-03 |2,650,0009 x 12241 = 31,800
o)) A% 420-03 |2,650,0009 %164 = 42,400
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)=
ﬂg At S A e 20184 (A) | 201794 (B) | FH(A-B)

2) Al Eon] 420-05 |1,894,750,0009 X 0.379%= 7,176

U Az A Ad A 140,530
1) A]%dn] 140,000
7h 4= 420-03 |2,000,000¢1 x 207 = 40,000
W) s4= 420-03 2,000,000 x 257]= 50,000
h Uz 420-03 2,000,0009 x 257 = 50,000
2) Al HF-tn] 420-05 [140,000,0009 X0.379%= 530

o} M7 A 20,000
1) Ak 420-03 |10,000,0009 x 2t = 20,000

8. AANIANETTEF 416,250 0 416,250

7} 2 F A A 416,250
1) Mek=x 620-04 |1,500,0009 %24 = 3,000
2) MAx 620-04 |800,0009 x 1= 800
3) Axx 620-04 |1,500,0009 x 144 = 21,000
4) Y2z 620-04 |1,500,0009 x74= 10,500
5 WEx 620-04 |1,500,0009 x 24 = 3,000
6) thob= 620—04 1,500,000 x124= 1,500
7) vEx 620-04 |2,300,0009 x 14]= 2,300
8) Wakx 620-04 (800,000 x 74 = 5,600
9) H|etE % 620-04 |1,500,0009 x 1= 1,500
10) A% 620-04 |1,500,000¢ x 54 = 7,500
11) Aalx 620—04 59,400,00091 x 12]= 59,400
12) AHFEx 620—04 1,500,000 x 1= 1,500
13) AZEx 620—04 1,500,000 x 344 = 51,000
14) Axx 620—04 [800,0009 X432 = 34,400
15) Fox 620-04 |1,500,000¢ X 34 = 4,500
16) F2&x 620-04 |1,500,000¢ x 404 = 60,000
17) sz 620—04 1,500,000¢ x324= 4,500
18) Tubx 620-04 |1,500,000¢ x 6= 9,000
19) A= 620-04 |1,500,0009 x 284 = 42,000
20) B4 620—04 [400,0009 %14 = 400
21) A&F 620-04 |1,500,000¢ x 24 = 3,000

m
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A S == A5 AU S 2018 (A) | 20174 (B) ZH(A-B)

22) AFEs 620-04 |1,500,0009 x 44 = 6,000

23) &= 620—04 1,500,000 x14= 1,500

24) E98% 620—04 3,800,0009 x 124 = 3,800

25) = 620—04 1,500,0009 X324 = 4,500

26) TAME 620-04 [1,500,0009 X 204 = 30,000

27) Tk a1 620—04 | 1,500,0009 x 22 = 3,000

28) At 620—04 |5,850,0009 x 14 = 5,850

29) A& 620—04 | 35,200,0009 x 14]= 35,200
9. A ANA 2,274,669 4,831,599 22,556,930
7}, A AR 2,274,669

1) AAm] 420-02 2,165,560,0009 X 4.664%= 100,993

2) Al 2,165,560

7hH WEx 420—03 89,140,0009 x 1= 89,140

W) Iz 420-03 121,080,0009 X 0.54 = 60,540

hH &28x% 420-03 89,140,0009 X524 = 445,700

oh) ol x 420-03 |121,080,0009 x 141 = 121,080

uh) A&z 420—03 89,140,0009 x 34 = 267,420

wph &= 420-03 |89,140,0009 x 42 = 356,560

A} Aok 420-03 89,140,0009 x4 = 356,560

oh) 3FF 420-03 11,430,0009 x 24 = 22,860

2 A 420-03 189,140,000 x 14 = 89,140

ZH Ak 1 420—03 [89,140,000¢ x 42 = 356,560

3) Al 420-05 2,165,560,0009 %0.375%= 8,116
10. ZAM A (AH) 204,500 0 204,500
7F A3 204,500

1) Al 204,500

7hH A= 620-11 120,450,000 x 104 = 204,500
11. Al A NA (A=) 385,366 301,040 84,326
7F A2 (A ) A 245,960

1) A|AdH] 245,960

7hH FAA A= 620—11 19,460,000 x 264 = 245,960
v AAAA 488

m
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Sineh A S == A5 AU S 2018 (A) | 20174 (B) ZH(A-B)
1) Ay 488
7h A S 62011 |4,0009 x122m'= 488
), RS 100,768
1) AlAdn] 100,768
7B A A = 620-11 |12,596,0009 x 821 = 100,768
gt Y17 38,150
D W53 A58 38,150
7hH A= 620—11 |38,150,0009 %14 = 38,150
12. A7Z| A A AA (AHR) 192,520 160,800
7}, 2" A4 (LED) 60,950
1) AldH] 60,950
7h EARA A Z (L E) 620—11 |2,650,000¢1 x 2341 = 60,950
L EAAA 131,570
1) AlAdn] 131,570
7h A = 620—11 [131,570,0009 x 12 = 131,570
A 175,884 577
175,884 577
SRS & gk ol 175,884 577
FRADSA AL LI XY 175,884 577
1. 3 SEIA L 500 0
7}, A5 A ] 0] 3 210-02 |500,0004 x 13]= 500
2. SEA A E A ¢ 170,844 817
7h Ay gk st 170,844
1) st=+ 320-01 [13,5009 X609 = 810
2) Y8 320-01 |68,1009 %958 x12¢ = 77,634
3) Ql7H] 320-01 |700,0009 %1198 x129= 92,400
3. FREXRNA3LY 2,900 A280
7h 29 & 210-01 |20,0009 X 6% x 28] = 240
L e e 210-06 |80,0009 X 7% x 43| = 2,240
t}. 9] 3 230-02 15,0009 x 109 x 23] = 300
a}. 7F2u] 310-01 |3,00091 X107 x 43]= 120
4, YL EHAT2IX LA 1,640 40
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" At Ul o A5 g 20189 (A) | 20179 (B) | S#H(A-B)
7} 9 &= 210-01 |10,0009 x11F x 23]= 220
(BN e 210-02 12,0009 X 620%= 1,240
o}, 7-A1 1] 310-01 |3,0009 x 20 x 33]= 180
zs 3,818,832 2,859,716 959,116
3,145,124 2,324,076 821,048
A5ZH7H A 13,775 13,675 100
EEE 10,400 10,300 100
1. 202 AR Eg = 10,400 10,300 100
7h Fo AR 2,000
1) 98 210-01 |25,0009X10% x23]= 500
2) Az A= 210-01 |10,0009 X 50% x 38| = 1,500
L A S0 3 8,400
IDERSEE 210-01 |20,0009 X 10% x 38 = 600
2) TS A E A 210-01 10,0009 X504 x 53] = 2,500
3) Ahm A= 210-01 10,0009 X 60% X 53] = 3,000
4) AESFT 210—-06 |40,0009 x5 = 200
5) AR E 210-07 |800,000¢l x 18] = 800
6) A (b 500
7} 78 210-06 |160,00049 x 2= 320
W) z3} 210—-06 90,0009 X 24 7k= 180
7) 2] 310-01 |8,0009 %100 = 800
R R 3,375 3,375 0
1. 2S5 FHAAX B 2,360 2,360 0
7h S A LN A Y H 9] 2 3] 2,360
1) 984 210-01 [20,0009X14%F *x23]= 560
2) At 210—-06 (80,0009 X 9™ x 23] = 1,440
3) o] 210-06 |20,000€ x 9% x 23]= 360
2. ISA LR LSHHYA A 1,015 1,015 0
7h S YA A 1015
1) S98= 210-01 [20,000€X10% x23]= 400
2) A7 A= 210-01 |7,0009 X 30%-= 210
3) &3 230-02 |15,0009 x 279 = 405
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4% (9] - )

)=
ﬂ% ARSI R AENE 20189 (A) | 20179(®B) | ZZ(A-B)

TR 3,420 3,420 0
AEFAEFHR 3,420 3,420 0
1. 35T RPEST 3,420 3,420 0

7h AR S A A A 3.420

1) $ojgx 210-01 20,0009 X 5% x 23] = 200

2) A=A 2 210-01 |5,5009 x500%= 2,750

3) AESS 210-06 40,0009 x 47 x 23] = 320

4) 9] 3 230-02 |15,0009 x5 x 23] = 150
7,900 7,552 348
AL B 7,900 7,552 348
1. AAZA 1,380 1,440 AB0

7}, ZFAFEHE ) 250-04 |5,0009 % 3 x 923] = 1,380
2. B3ukx| 9l g H o] A 7} 5} 6,520 6,112 408

7h, Fap A 9 | o) A 7 sk 3,840

1) S99 210-01 |20,0009 X 10% x 43]= 800

2) A=A 2 210-01 [8,390€9 X 1004 x 23] = 1,678

3) g 210-01 |14,0009 x 31) X 6A] 7F= 252

4) 7P (L) 750

7h 75 310-01 |160,000¢ x 17 x 33| = 480

W) =3 310-01 |90,0009 x 17 x 34| 7F= 270

5) &<2]3] 230-02 15,0009 X 127 x 23] = 360

v FHE s A 2,680

1) $9ax 210-01 |20,0009 X 20%= 400

2) A& 210-01 |3,0009 x 80 = 240

3) AlH) 210-04 |8,0009 x 80 = 640

4) 2l m 210-07 |700,0009 x 2t = 1,400
2,000 0 2,000
71 &3 7} 2,000 0 2,000
1. Z5PA7|AH 7L AL 2,000 0 2,000

7t WS A A H 7t 2,000

1) ARAB 7HA = A 23t 500

70 A2 A = 210-01 |5,0009 X 50%-x 23] = 500
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AR X % (9] - )

o )=
?};3 ﬂg At S A e 20184 (A) | 201794 (B) | FH(A-B)
2) AHAF 7 389 1,500
7P +98% 210-01 |15,0009 X 10% x 23] = 300
W) Ao 210—-06 |80,000¢ x 3% x33]= 720
h 919324 A1n) 210-06 [20,0009 x 3 x33]= 180
Zh) &9 3] 230—02 15,0009 x 10 x 23] = 300
AT R R 11,824 83,412 AT1,588
ASFAA A AL 11,824 83,412 A71,588
1. A28 #3 LY 11,164 82,752 AT1,588
7h AAbw S A2 4,020
1) ArwSALEE 210-01 30,0009 X 14% x 63| = 2,520
2) T EAN] 210-09 [50,0009 X 5% x 63]= 1,500
v AARE ] A] B 7,144
1) H/WHA B 210—09 |26,795,0009 X 8%= 2,144
2) AN AR E 210-09 25,0009 X 10% x 43]= 1,000
3) UEY 348 A 430-01 |1,000,0009 x 4tj= 4,000
2. EH oA {F-A & 660 660 0
7}, o] x| H ol gol u] A~ 210-01 55,0009 x129= 660
IFPPYARL | ZETE 46,340 4,190 42,150
IEPF7EZEEY 46,340 4,190 42,150
1. 7|5 ERERTEE 45,820 3,670 42,150
7h 7152 714 9] 3] 320
1) 3+ 210-06 [80,0009 x 29 x 23] = 320
. 715329 45,300
1) 98+ 210—01 [25,0009 X 105 X 63]= 1,500
2) A} 430-01 400,0009) x 1= 400
3) o=} 430-01 |200,0009 x 26| = 400
4) A7} 430-01 [2,000,0009 x12tj= 24,000
5) Fd57] 430-01 |9,000,000¢ x 2t} = 18,000
6) HAE 430-01 |250,0009 x47)= 1.000
= AR i A 200
1) 98+ 210-01 [20,0009 x10%= 200
2. ARFNLY 520 520 0
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7187 AR LA S A9 (9] - A )
Z o )=
wopvy S0 | 2R | AT NERE 2 4% Ao} 20189(A) | 2017d(B) | 2%(A-B)
b B ] e el 520
D 98+ 210-01 |20,0009 x 5% x 28] = 200
2) A 210—06 [80,000¢] x 24 x 23] = 320
UL AP H| A HE 2,340 2,160 180
4 2,340 2,160 180
1. DL F A=A 2,340 2,160 180
b WA R AL 2,340
1) &98% 210-01 [20,0009X14%%x63]= 1,680
2) A7) 210-07 |55,0009 x 129 = 660
v o)u) Al & L B ek 1,500 1,200 300
H] 3] A L B kg 1,500 1,200 300
1. 83 din Al g 2 Bt 200 200 0
7b A =T Y 200
R 210-01 |20,0009 X 10%= 200
2. X AL 1,000 1,000 0
7F S 9x 210-01 20,0009 x50%= 1,000
3. AHS B R g 300 0 300
7h R E 310-01 [30,0009x10%= 300
o dAt &z 1,000 37,091 236,091
oAt &g 1,000 37,091 236,091
1. A EZAAEAGFA 1,000 600 400
7. A7 A = 210-01 |10,0009 X 100%-= 1,000
A5 #e 70,666 70,900 £~234
T4 AANLEZ 77 70,666 70,900 A234
1. % - FHALBE 8,440 8,440 0
7V AN =R 210—01 [500,0009 X 63]= 3,000
U B¢ E 210-01 [100,0009 x103]= 1,000
t}. &9 3 230-02 |15,0009 x 20% x 83]= 2,400
2}, B EEn) 250-04 [60,0009 x14x12¥= 720
2 S R R e e ) 1,320
1) &98% 210-01 [20,0009 X 25% X 23]= 1,000
2) A 210-06 |80,0009 x4 = 320
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7187 AR LA S A9 (9] - A )
o A=)
wopvy S0 | 2R | AT NERE 2 4% Ao} 20189(A) | 2017d(B) | 2%(A-B)
2. ¥ A A AT 3,000 3,000 0
7). d w e 620-03 |1,500,0009 x 2i= 3,000
3. A A AT A 3 1) 59,226 59,460 ~234
7}, A1 A A 30 210-02 |59,226,0009 = 59,226
A ul| X A] ] 2,437,357 1,620,260 817,097
A Hl ] A 8 Ba) 1,797,357 1,620,260 177,097
1. AN G2 8,100 1,750 6,350
7 8% 210-01 [20,0009 X 24% x103]= 4,800
1}, 9] 3 230-02 |15,0009 x 22 x 103] = 3,300
2. 2t A9 1,663,911 1,494,191 169,720
7h. EFH Ak u S 1,000
1) $99% 210-01 |30,00091 x 13% x 23] = 780
2) A (dnh) 220
7hH 71 210-06 |70,0009 X194 x23]= 140
W) x3 210-06 |40,0009 X 178 x 24| k= 80
. A A =kE (29T) 210-07 |1,333,307,0009= 1,333,307
th F e A A 110,000
1) =38 (34912 430-01 |110,000,000¢ X 1t)= 110,000
EIE i Eatits it 77,654
1) x93 620-03 |23,944,0009 = 23,944
2) 258w (7)) 620-03 |53,710,0009= 53,710
mh. QbA A E ARSI AR 140,000
1) &x9 62001 |14,000,0009 x 3% = 42,000
2) 2= 620—01 |14,000,0009 x 74 = 98,000
v}, ket 27| 210-03 [50,0009 X399 = 1,950
3. SQEA Y 125,346 124,319 1,027
7}, &h<n) 33,840
1) A 310-01 |180,0009 x 2% x9¢ = 3,240
2) A& 310-01 |180,00091 X179 x 109 = 30,600
L, e ] A 9 (81) 620-03 |91,506,000¢ = 91,506
AR R aSAAxd 640,000 0 640,000
1. ARz A Y 640,000 0 640,000
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(9] D)
ARSI == A5 AU S 2018 (A) | 20179 (B) | 4 (A-B)

7h. F70 g ot a4 600,000
1) A zEH A 600,000
71 AN 420-02 562,080,000¢] X 4.696%= 26,396
L) AlZdH] 562,080
1) A== 420-03 121,040,00091 x 34 = 363,120
(2) IgNZ== 420-03 |115,960,0009 x 1= 115,960
(3) 71=R7} 420-03 [50,000,0009 x 124 = 50,000
(4) AztzAA 420-03 [15,610,0009 X 1 7] &= 15,610
(5) IAAHA 420-03 17,390,000 x 12 = 17,390
oh) Z+Heln) 420-04 562,080,0009 X 1.363%= 7,662
Zh A X o) 420-05 562,080,0009) X 0.687%= 3,862
U Egate g s 9 620—03 40,000,0009 x 115.= 40,000

53 8 35,318 6,060

9w §F o g 35,318 6,060

AR Rk R 5,384 A~200
7F g ueg e 5,384
1) 298=% 210-01 20,0009 X 20% x 23] = 800
2) A=A 2 210-01 |5,0009 X 100% x 28] = 1,000
3) Y= 210-01 14,0009 X 3vl] x 24| 7= 84
4) A (AN 500
71 78 210-06 |160,000¢1 17 x 28] = 320
W} =3 210-06 90,0009 X 17 x 24| 7k= 180
5) 393 230—02 15,0009 X607 x 23] = 1,800
6) k24| 310-01 |3,0009l X200 x 23] = 1,200

st o sl 2o EA 29,934 6,260
7t SRS 2,284
1) 98= 210-01 20,0009 X 21% x 23] = 840
2) A2 A2 210-01 5,0009 X 100%= 500
3) Y= 210—01 [14,0009 x 31l X 2A] k= 84
4) Z3Atr g (AR 500
7hH 71 310-01 160,000 x 11 x 23] = 320
) z3 310—-01 |90,0009 X 17 x 2A]3k= 180
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7187 AR LA S A9 (9] - A )
= o )=
HOpHE ?}Zj ?};3 ﬂg At =45 Az o 20189 (A) | 20179(B) | TH(A-B)
5) 7+-214] 310-01 |3,0009 X 607 x 23] = 360
u SRR Ao A Y 3,000
1) $a38= 210-01 |30,0009 X 20% x 33| = 1,800
2) A=A = 210-01 |3,300¢ X 60%-= 198
3) e 210-01 |14,0008 x 31} x 64| 7= 252
4) Z3AtE (AR 750
7hH 71& 310-01 |160,0009 x 3% = 480
W) %x 310-01 90,0009 x 3% X 1A| k= 270
ot oY 24,650
D T4 20,600
7hH L98E 210-01 |20,0009 X 4% x103]= 800
W) o 210-03 |250,0009 x40 = 10,000
o 2l Aa 210-07 |400,0009 x 1t] x 53] = 2,000
b &9 3] 230-02 15,0009 x40 = 600
up) 7+-An] 310-01 |3,0009 x40 x103]= 1,200
Hh) % 324 310-01 |30,0009 x 247k x 508] = 3,000
A} HFSER}S=T) 310-01 |30,0009 X 247+ x 508] = 3,000
2) A7194F3] 4,050
7hH L9 8F 210-01 |40,0009¥ X 30%= 1,200
wh A=A = 210-01 |1,2509 X 400% x 3F= 1,500
th A|dAdxaE 210-07 |1,350,000¢ x 13]= 1,350
Al AT e 511,684 450,958 60,726
A DA & 511,684 450,958 60,726
1. AEAFY ER A 9 511,684 450,958 60,726
7}, SF A A G-A] B 426,488
1) HAA LA 210-15 |58,310,000¢ = 58,310
2) A 210-09 |365,075,0009 = 365,075
3) AlAXg)n] 420-05 13,103,000 = 3,103
1}, 7]/\6361—_11_}\]/\4 oA e 7,296
1) AW A S 210-15 |608,0009x129= 7,296
o}, S w A ﬂﬂtﬂg}za] 735 620-04 |5,000,000¢] X 6= 30,000
g} sz 420-03 47,900,000 x 1 1= 47,900
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g S AW S A cA)
<l Apeiuy el = NENE 201849 (A) | 20174 (B) Z(A—B)
/\]—Cd = = = =M il il a

E ) 673,708 535,640 138,068
PR 540,122 535,640 4,482
A IR L 540,122 535,640 4,482
L 7124753 29,760 28,840 920
7h 718722 7 29,760
1) 71 #AFA NG R E 250-02 400,00091 X 129 = 4,800
2) 71 ¢ G F 51 230-01 21,000,000 = 21,000
3) AL FFF00] 230—-01 40,0009 x99 = 3,960
2. 71 B89 A 272,238 288,870 216,632
7h AR N (L 5A] 13,786
1) AFH 430-01 |1,150,0009 x 8t} = 9,200
2) ZaE] (A4) 430-01 |450,0009 x 2t)= 900
3) 71EH3}7) 430-01 |300,000€ x 6= 1,800
4) RE7N(AENE=E) 430-01 |62,0009¢ x 3t)= 186
5) FHA 430-01 |400,0004 x 2t = 800
6) FA27] 430-01 [400,0009 x1t)= 400
7) WA 430-01 |500,0009 X 1tj= 500
U a3 e wBAA 60,440
1) Ao+ 210-02 |2,330,0009 x 129 = 27,960
2) AaleF 210-02 |1,650,0009 x 129 = 19,800
3) QIE| Y EAlH] 210-02 |400,0009 x 129 = 4,800
4) At E QT 210-02 |250,0009 x 129 = 3,000
5 +HOo= 210-02 |160,0009 x 12¢= 1,920
6) EAZIAQ 210-02 20,0009 x129= 240
7 AAEFA LT 210-02 40,0009 x 129 = 480
8) Al 3HA A Bk 210-02 |120,0009 x 129= 1,440
9) AYRZRAS 210-02 |25,0009 X207 = 500
10) X 210-02 |300,0009= 300
U ARk 7 12,342
D A7y ETE 210-01 |13,0009 X 35% x129= 5,460
2) =479 210-01 |15,0009 x50 = 750
3) A AH] SR K 210-01 |50,00091 X 15% x 53] = 3,750
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GLE

AFA U < A= ArEU S 2018 (A) | 20179 (B) | F

4) JF-alz] 210-01 |19,85091 X 120%-= 2,382
ok A A B 6.070
1) 71EA 3} 210-13 |110,0009 x129= 1,320
2) Wykuk) 210—-13 50,0009 x 25t = 1,250
3) oo 210-13 |50,0009 x5t x 23] = 500
4) A7 ekABY Y552 210—-13 |250,0009 %129 = 3,000
o}, R AFTa 57,992
1) A E A d A G 210-13 160,0009 x12¥= 1,920
2) g 210—13 1,648,500 x12¢9= 19,782
3) EYIYA 210—13 350,000¢ x 28] = 700
4) A7/ AE8 210—13 [40,0009 x 3t x12¥= 1,440
5) eloAd 24 dA 210-13 |3,000,0009 x 13 = 3,000
6) AT LE 210-01 30,0009 X10% x103]= 3,000
7) 2 210-09 |1,000,000¢ x 23] = 2,000
8) H 7| &g 210—-13 |200,0009 X 53] = 1,000
9) AAMFH 210-09 1,970,800 x12¢9= 23,650
10) ¥]&n) 210-03 |250,00091 X6 = 1,500
ub, HEAFe-Y 20,089
1) th& -8 (30,000kme]d) 210-10 |10,238,000¢ x 1= 10,238
2) U853 (10,000kme]’d) 210-10 19,851,000 X 1tf= 9,851
Ab A2 70D 49,400
1) AFH 430—-01 1,150,0009 x9tf= 10,350
2) “E& 430—01 1,300,000¢ X 1tf= 1,300
3) RUE 430-01 250,0009 x 4t)= 1,000
4) ZE(A4) 430-01 |450,000¢ x 2tj = 900
5) Z3AE(A3) 430—01 [850,000¢ x 2t)]= 1,700
6) HAREAL7] 430-01 4,950,000 x 1th= 4,950
7) FNEH 430—-01 [400,0009 x77)= 2,800
8) YW=~ 430—01 2,800,000¢ X 7tf= 19,600
9) 7]EH 3] 430—01 [300,000¢ x8tj= 2,400
10) &} 430-01 |320,0009 x570= 1,600
11) 9J=#F 430-01 |180,0009x107]= 1,800
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AR IR R e et ST B Bk GOEEE)
= [ =]
wopvy S0 | 2R | AT NERE %A A& 20184(A) | 20174 ®B) | Z7(A-B)
12) W= 430-01 50,000€ x207)= 1,000
of. & ¢ 42,769
1) FolAgn| g4 210-13 |180,0009x 129 = 2,160
2) DAY 5,900
7hH 44 210-06 50,0009 x118Y= 5,900
3) &=xga 210—-13 |2,850,7509 x129= 34,209
4) FAA AN 210-15 |500,00091= 500
2. Ak 2 1,000
1) A=A} 210-01 20,0009 X 105 x 53] = 1,000
2p. 2T IO LAY 210-01 |20,0009 x 3% x 10%] = 600
b AFE S A (BB 7,750
1) AFE 430—-01 1,150,0009 X 6th= 6,900
2) ZHE (A4) 430-01 450,000 % 1t]= 450
3) WA 430-01 |400,0009 x 1) = 400
3. BA 7| B9 AN 238,124 217,930 20,194
7F S L3 69,940
1) 2uke-ul 9,520
7h FA 210-01 |1,200,00091= 1,200
) 7fels 210-01 416,000 X209 = 8,320
2) Eualn) 210—-05 (8,000 X201 x423]= 6,720
3) A& QFFRN) 4,500
7hH 44 230-01 |350,00091 x 129 = 4,200
W) =3 230-01 |5,00090 x5 x 129 = 300
4) o3n) 48,000
7hH # 220-01 (20,0009 20 x 493]= 19,600
W T 220—01 40,0009 x 207 x 323] = 25,600
h %9 220-01 |70,000€) x 20 x 23] = 2,800
5) A A Fe] R =711 250—-02 |100,0009x 129 = 1,200
3 %) A 1} 107,952
1) dnkeu) 18,256
7h FA% 210—01 |1,200,0004 = 1,200
) 7fels 210-01 [416,0009 X419 = 17,056
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R

A S == A5 AU S 2018 (A) | 20174 (B) ZH(A-B)

2) ELu2n] 210—05 [8,0009 x 417 x273]= 8,856
3) A FFAIn 4,860
7hH A4 230-01 |350,0009x12¥= 4,200
) =3 230-01 |5,0009 x11% x129= 660
4) o] 63,140
7hH ] 220-01 |20,0009 X419 x 3638 = 29,520
W =4 220-01 40,0009 X419 x173]= 27,880
) T9 220-01 |70,0009 x41% x 28] = 5,740
5) AWM FATLZ=21) 250-02 100,000 %129 = 1,200
6) 5441 11,640
7H A e 250-03 80,0009 x 38 x 129 = 2,880
W) oard g 354 250—03 |150,0009 X34 x12¥= 5,400
th) AL e 250-03 100,000 %18 x 129 = 1,200
b IAGTTEY 250—03 60,0009 X3 x12¢= 2,160
| = S el g PASA R 60,232
1) LRk-H] 7,024
7hH B 210-01 |1,200,0009= 1,200
) Qi 210-01 |416,0009x14%= 5,824
2) E2ufj Al 210-05 (18,0009 X 14™ x 44.3]= 4,928
3) F-AM T3] 230-01 |350,0009 %129 = 4,200
4) o] 39,040
7hH # 220—-01 |20,0009 x 16 x713]= 22,720
) Eu 220-01 40,0009 X 169 x 2238 = 14,080
) £9 220-01 70,0009 X16% x23]= 2,240
5) A AFAILZ=71) 250-02 |100,0009x12¥= 1,200
6) 54570 3,840
7h SuRd (XSS H R 250-03 80,0009 x 1% x129= 960
W SR (SR 250-03 60,0009 x1¥ x129= 720
) FAADS ) P 250-03 60,0009 x 39" x129= 2,160

LEPH 7| AA A 133,586 0 133,586

AEAGHA L HE 133,586 0 133,586

1. ZEA QYA A 133,586 0 133,586
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A - ~

bl AP S -4 g 20189 (A) | 20179 (®B) | T#(A-B)

e B i A R I A e e 133,586

1) A AH] 420-02 [123,200,0009 X 6.42%= 7,910

2) Al/dH] 123,200

7hH Z==H] 420-03 |1,376,0009 X75m'= 103,200

W) FERHE 7S AE] 420-03 120,000,000¢ X 12]= 20,000

3) 7+g]H] 420-04 (123,200,000 X 2.01%= 2,476
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